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BOOKS - RD SHARMA MATHS (ENGLISH)

PAIR OF LINEAR EQUATIONS IN TWO VARIABLES

Others

1. 37 pens and 53 pencils together cost Rs. 320, while 53 pens and 37

pencils together cost Rs. 400. Find the cost of a pen and that of a

pencil.

Watch Video Solution

2.  and 
each have certain number of oranges. 
says to 
 if you

give me 10 of your oranges, I will
 have twice the number of oranges

A B A B,

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_BxLgsslAgK11
https://dl.doubtnut.com/l/_M6GpL9EJHIAQ


left with you. B replies, if you give me
 10 of your oranges, I will have

the same number of oranges as left with you.
 Find the number of

oranges with  and  separately.

Watch Video Solution

A B

3. Prove that there is a value of 
 for which the system



 
has infinitely many solutions. Find this

value.

Watch Video Solution

c( ≠ 0)

6x + 3y = c − 3 12x + cy = c

4. Find the values of 
for which the system
 


will have (i) a unique solution, and (ii) no
solution. Is there is a value of


for which the system has infinitely many solutions?

Watch Video Solution

k 2x + ky = 1 3x − 5y = 7

k

https://dl.doubtnut.com/l/_M6GpL9EJHIAQ
https://dl.doubtnut.com/l/_35nNRpwtmn4Y
https://dl.doubtnut.com/l/_tssxHjoDzxys
https://dl.doubtnut.com/l/_HGC8fGCnTLsK


5. For what value of 
 the system of equations



will have no solution?

Watch Video Solution

α, αx + 3y = α − 3

12x + αy = α

6. Find the value of 
 for which the system
 


has (i) a unique solution, and (ii) no solution.

Watch Video Solution

k kx + 2y = 5 3x + y = 1

7. Determine the values of a and b
 for which the following system of

linear equations has infinite
 solutions:
  and

Watch Video Solution

2x − (a − 4)y = 2b + 1

4x − (a − 1)y = 5b − 1

https://dl.doubtnut.com/l/_HGC8fGCnTLsK
https://dl.doubtnut.com/l/_VANvtaCzu8ct
https://dl.doubtnut.com/l/_6eCBhAVJW0jl


8. Determine the values of  and 
 so that the following system of

linear equations have infinite number
 of solutions:


. 

Watch Video Solution

m n

(2m − 1)x + 3y − 5 = 0 3x + (n − 1)y − 2 = 0

9. Find the values(s) of 
 for which the system of equations


 
has (i) a unique solution (ii) no solution.
 Is

there a value of 
for which the system has infinitely many solutions?

Watch Video Solution

k

kx − y = 2 6x − 2y = 3

k

10. For what value of 
 will the equations


represent coincident lines?

Watch Video Solution

k

x + 2y + 7 = 0, 2x + ky + 14 = 0

https://dl.doubtnut.com/l/_hQHhGEtqvqrp
https://dl.doubtnut.com/l/_hmcFmY6CC3sl
https://dl.doubtnut.com/l/_eiGUrbkS7UKH
https://dl.doubtnut.com/l/_ioO1mdpj4IeU


11. In each of the following systems of equations determine whether

the system
 has a unique solution, no solution or infinitely many

solutions. In case
there is a unique solution, find it.

(1) 
,
 



(2) 
,
 



(3)
 
,


Watch Video Solution

2x + 3y = 7 6x + 5y = 11

6x + 5y = 11 9x + y = 21
15

2

−3x + 4y = 5 x − 6y + = 0
9

2

15

2

12. Solve : ,

Watch Video Solution

a(x + y) + b(x − y) = a2 − ab + b2

a(x + y) − b(x − y) = a2 + ab − b2

13. Solve: ,


Watch Video Solution

+ = a + b
x

a

y

b
+ = 2

x

a2

y

b2

https://dl.doubtnut.com/l/_ioO1mdpj4IeU
https://dl.doubtnut.com/l/_6XoW5ZBP5ewT
https://dl.doubtnut.com/l/_m9NPQ6PGCLrn
https://dl.doubtnut.com/l/_Ng2kFdg14xFK


14. Solve 
and


Watch Video Solution

+ 5y = 7
4
x

+ 4y = 5
3

x

15. Solve the following system of equations in 


Watch Video Solution

xandy ax + by = 1

bx + ay = − 1 or , bx + ay =
(a + b)

2

a2 + b2

2ab

a2 + b2

16. Solve:  ;


Watch Video Solution

x + y = a + b ax − by = a2 − b2

17. 

Watch Video Solution

= ; = 6
xy

x + y

6

5

xy

y − x

https://dl.doubtnut.com/l/_Ng2kFdg14xFK
https://dl.doubtnut.com/l/_7VawXWBoM2IJ
https://dl.doubtnut.com/l/_Eu8wOWPX1g8I
https://dl.doubtnut.com/l/_AGqjmjhS077E
https://dl.doubtnut.com/l/_sDzNpub5zQXr


18. Solve:  and 

Watch Video Solution

3x − + 2 = 10
y + 7

11
2y + = 10

x + 11

7

19. Solve ,
 ,


Watch Video Solution

x − y + z = 4 x + y + z = 2 2x + y − 3z = 0

20. 


Watch Video Solution

+ = 10
44

x + y

30

x − y
+ = 13

55

x + y

40

x − y

21. Solve: ,
 ,


Watch Video Solution

x + 2y + z = 7 x + 3z = 11 2x − 3y = 1

22. ,
= + 3
6

x + y

7
x − y

=
1

2(x + y)

1

3(x − y)

https://dl.doubtnut.com/l/_sDzNpub5zQXr
https://dl.doubtnut.com/l/_GAOScVUqll05
https://dl.doubtnut.com/l/_qgmysSCFjLBX
https://dl.doubtnut.com/l/_BXrxIVBD95dN
https://dl.doubtnut.com/l/_CzT3IjPQAflH


Watch Video Solution

23. Determine graphically the vertices of a trapezium, the equations of

whose sides are 
 . Also, determine

its area.

Watch Video Solution

x = 0, y = 0, y = 4and2x + y = 6

24. Determine, graphically whether the system of equations


is consistent or in-consistent.

Watch Video Solution

x − 2y = 2, 4x − 2y = 5

25. Solve the following system of equations by using the method of

elimination by equating the coefficients:
 
 and


Watch Video Solution

+ + 1 = 15
x

10

y

5

+ = 15
x

8

y

6

https://dl.doubtnut.com/l/_CzT3IjPQAflH
https://dl.doubtnut.com/l/_wNRoDzByag10
https://dl.doubtnut.com/l/_Feybz37slhJi
https://dl.doubtnut.com/l/_1RyBqPU1cOAB


Watch Video Solution

26. Solve the following system of equations:
 
 and

Watch Video Solution

− = − 1
1

2x

1

y

+ = 9, wherex ≠ 0, y ≠ 0.
1

x

1

2y

27. Solve: 
 
and hence find p if 

Watch Video Solution

4x + = 15
6

y
6x − = 14

8

y
y = px − 2

28. Solve ,


Watch Video Solution

: 3(2u + v) = 7uv 3(u + 3v) = 11uv

29. 


where 

Solve : + =
1

2(2x + 3y)

12

7(3x − 2y)

1

2

+ = 2
7

2x + 3y
4

3x − 2y
2x + 3y ≠ 0and3x − 2y ≠ 0.

https://dl.doubtnut.com/l/_1RyBqPU1cOAB
https://dl.doubtnut.com/l/_4Kmm1LKtfN3w
https://dl.doubtnut.com/l/_TZD95tQSAB4t
https://dl.doubtnut.com/l/_XGHlKMGXFp5J
https://dl.doubtnut.com/l/_acQTVlSvCyVn


Watch Video Solution

30. Solve: 


Watch Video Solution

217x + 131y = 913 131x + 217y = 827

31. The area of the triangle formed by the lines


and 
 (as shown in Figure), is 7sq.

units (b)
7.5 sq. units (c) 6.5 sq. units (d)
6 sq. units

Watch Video Solution

2x + 3y = 12, x − y − 1 = 0 x = 0

32. The students of a class are made to stand in rows. If 3 students are

extra in a row, there would be 1 row less. If 3 students are less in a row

there would be 2 rows more. Find the number of students in the class.

Watch Video Solution

https://dl.doubtnut.com/l/_acQTVlSvCyVn
https://dl.doubtnut.com/l/_WljSqkImGECm
https://dl.doubtnut.com/l/_SVCmDKkMzA1Z
https://dl.doubtnut.com/l/_4IFNONBUFIo8


33. A wizard having powers of mystic incantations and magical

medicines seeing a cock fight going on, spoke privately to both the

owners of cocks. To one he said: 'if your bird wins, than you give me

your stake-money, but if you do not win, I shall given you two third of

that'. Going to the other, he promised in the same way to three

fourths. From both of them his gain would be only 12 gold coins. Find

the stake of money each of the cock-owners have.

Watch Video Solution

34. A railway half ticket costs half the full fare and the reservation

charge is the same on the half ticket as on full ticket. One reserved

first class ticket from Mumbai to Ahmedabad costs rs216 and one full

and one half reserved first class tickets cost rs 327 What is the basic

first class full fare and what is the reservation charge?

Watch Video Solution

https://dl.doubtnut.com/l/_IYC69onGYuMF
https://dl.doubtnut.com/l/_CF6CONYNvWtw
https://dl.doubtnut.com/l/_vr1X96jRTnyx


35. There are two examination rooms A and B. If 10 candidates are sent

from A to
 B, the number of students in each room is same. If
 20

candidates are sent from B to A, the number of students in A is double

the
 number of students in B. Find the number of students in each

room.

Watch Video Solution

36. In a rectangle, if the length is increased by 3 metres and breadth is

decreased by 4 meters, the area of the rectangle is
 reduced by 67

square meters. If length is reduced by 1 metre and breadth is

increased by 4 metres, the area is increased by 89 sq. metres. Find the

dimensions of the rectangle.

Watch Video Solution

https://dl.doubtnut.com/l/_vr1X96jRTnyx
https://dl.doubtnut.com/l/_bONpHQtJV1w3


37. On selling a tea-set 5% loss and a lemon-set at 15% gain, a crockery

seller gains Rs. 7. If he sells the tea-set at 5% gain and the lemon-set at

10% gain, he gains Rs. 13. Find the actual price of the tea-set and the

lemon-set.

Watch Video Solution

38. Draw the graphs of  Shade the

region boun-ded by these lines and x=axis. Find the area of the shaded

region.

Watch Video Solution

2x + y = 6 and x − y + 2 = 0.

39. Solve the following system of linear equations graphically.

,


Watch Video Solution

2x − y − 4 = 0 x + y + 1 = 0

https://dl.doubtnut.com/l/_3qseaWkC0Qef
https://dl.doubtnut.com/l/_Evcvnoi9VQ5f
https://dl.doubtnut.com/l/_6XNcKep8sbHR


40. Solve the following system of equations graphically



and hence find the value of 
if 

Watch Video Solution

x + 3y = 6

2x − 3y = 12 a, 4x + 3y = a

41. Show graphically that the system of equations



has infinitely many solutions.

Watch Video Solution

3x − y = 2

9x − 3y = 6

42. Show graphically that the system of equations 

2x + 4y = 10 and 3x + 6y = 12 has no solution.

Watch Video Solution

43. Solve graphically the system of equations:
 


W h Vid S l i

x + y = 3 3x − 2y = 4

https://dl.doubtnut.com/l/_YVxmTQ6q54oA
https://dl.doubtnut.com/l/_02WAX9AGLrDM
https://dl.doubtnut.com/l/_TgAvQKQSDSU4
https://dl.doubtnut.com/l/_Xke1rGobCn4n


Watch Video Solution

44. Ten students of class X took part in Mathematics quiz. If the

number of
 girls is 4 more than the number of boys. Represent this

situation
algebraically.

Watch Video Solution

45. Draw the graphs of the following equations:
 
 ,



 and
 
 Obtain the vertices of the triangle

so obtained. Also, determine its
area.

Watch Video Solution

2x − y − 2 = 0

4x + 3y − 24 = 0 y + 4 = 0

46. Solve the following system of linear equations graphically:




Watch Video Solution

x − y = 1 2x + y = 8

https://dl.doubtnut.com/l/_Xke1rGobCn4n
https://dl.doubtnut.com/l/_y5ko0vJFFDpl
https://dl.doubtnut.com/l/_ajankgJllGrK
https://dl.doubtnut.com/l/_91UrlJ5HToIQ


47. After covering a distance of 30km with a uniform speed there is

some
defect in a train engine and therefore, its speed is reduced to

4/5 of its
 original speed. Consequently, the train reaches its

destination late by 45
 minutes. Had it happened after covering 18

kilometres more, the train would
have reached 9 minutes earlier. Find

the speed of
the train and the distance of journey.

Watch Video Solution

48. A man travels 600 km partly by train and partly by car. If he covers

400 km by train and the rest by car, it takes him 6 hours and 30

minutes.
But, if he travels 200 km by train and the rest by car, he takes

half an hour
longer. Find the speed of the train and that of the car.

Watch Video Solution

https://dl.doubtnut.com/l/_91UrlJ5HToIQ
https://dl.doubtnut.com/l/_Fhx5uMzFG8bV
https://dl.doubtnut.com/l/_ssajdODXWxGJ


49. A boat covers 32km upstream and 36 km downstream in 7 hours.

Also, it
covers 40 km upstream and 48km downstream in 9 hours. Find

the speed of the
boat in still water and that of the stream.

Watch Video Solution

50. X takes 3 hours more than Y to walk 30km. But, if X double his pace,

he
is ahead of Y by 
. Find their speed of walking.

Watch Video Solution

1 hours
1

2

51. The total expenditure per month of a household consists of a fixed

rent
of the house and mess charges depending upon the number of

people sharing the
 house. The total monthly expenditure is Rs. 3900

for 2 people and Rs. 7500
for 5 people. Find the rent of the house and

the mess charges per head per
month.

Watch Video Solution

https://dl.doubtnut.com/l/_CUJRQQZXO6QE
https://dl.doubtnut.com/l/_93maxbGwKj1Q
https://dl.doubtnut.com/l/_bXWD3jue8Dgf


52. A man starts his job with a certain monthly salary and earns a fixed

increment every year. If his salary was Rs. 1500 after 4 year of service

and
Rs. 1800 after 10 years of service, what was his starting salary and

what is
the annual increment?

Watch Video Solution

53. places A and B are 80 km apart from each other on a highway. A car

starts
from A and other from B at the same time. If they
move in the

same direction, they meet in 8 hours and if they move in opposite

directions, they meet in 1 hour and 20 minutes. Find the speed of the

cars.

Watch Video Solution

https://dl.doubtnut.com/l/_bXWD3jue8Dgf
https://dl.doubtnut.com/l/_7LgCoBT9ywZz
https://dl.doubtnut.com/l/_EiCcpvOgxM8D


54. Abdul traveled 300km by train and 200km by taxi, it took him 5

hours 30minutes. But if he travel 260 km by train and 240 km by taxi

he takes 6 minutes longer. Find the speed of the train and of the taxi.

Watch Video Solution

55. A person
invested some amount at the rate of 12% simple interest

and a certain amount
 at the rate of 10% simple interest. He received

yearly interest of Rs 130.
 But if he had interchanged the amounts

invested, he would have received Rs 4
more as interest. How much did

he invest at 12% simple interest?
(a) Rs
400 (b) Rs 500 (c) Rs 700 (d) Rs

800

Watch Video Solution

56. Students of a class are made to stand in rows. If one student is

extra
 in a raw, there would be 2 rows less. If one student is less in a

https://dl.doubtnut.com/l/_EtmEqrFgxlO1
https://dl.doubtnut.com/l/_UxYfTXZy0EAm
https://dl.doubtnut.com/l/_gLwwkyY8uiDx


row there
would be 3 rows more. Find the number of students in the

class.

Watch Video Solution

57. If the numerator of a fraction is multiplied by 2 and the

denominator
 is reduced by 5 the fraction becomes 6/5. And, if the

denominator is doubled
 and the numerator is increased by 8, the

fraction becomes 2/5. Find the
fraction.

Watch Video Solution

58. The denominator of a fraction is 4 more than twice the numerator.

When
both the numerator and denominator are decreased by
6, then

the denominator becomes 12 times the numerator. Determine the

fraction.

Watch Video Solution

https://dl.doubtnut.com/l/_gLwwkyY8uiDx
https://dl.doubtnut.com/l/_FdUkGzmnqvM8
https://dl.doubtnut.com/l/_d0W7PpsOBWIX


59. I am three times as old as my son. Five years later, I shall be two

and
 a half times as old as my son. How old am I and how old is my

son?

Watch Video Solution

60. If twice the son’s age in years is added to the father’s age, the sum

is 70. But if twice 
the father’s age is added to the son’s age, the sum is

95. Find
the ages of father and son.

Watch Video Solution

61. Ten years ago, a father was twelve times as old as his son and ten

years hence, he will be twice as old as his son will be then. Find their

present ages.

Watch Video Solution

https://dl.doubtnut.com/l/_JMFijQPCaslf
https://dl.doubtnut.com/l/_CMnqmZKkQixA
https://dl.doubtnut.com/l/_nWUt6Y9e3xTN


62. A and B are friends and their ages differ by 2 years. A’s father D is

twice
as old as A and B is twice as old as his sister C. The age of D and

C differ
by 40 years. Find the ages of A and B.

Watch Video Solution

63. Two years ago, a father was five times as old as his son. Two years

later, his age will be 8 more than three times the age of the son. Find

the
present ages of father and son.

Watch Video Solution

64. Father’s age is three times the sum of ages of his two children.

After
5 years his age will be twice the sum of ages of two children. Find

the age
of father.

Watch Video Solution

https://dl.doubtnut.com/l/_KEv9yMWTG9VI
https://dl.doubtnut.com/l/_bGxWwiIm6us3
https://dl.doubtnut.com/l/_qkng8eBaxbLl


65. A man travels 370 km partly by train and partly by car. If he covers

250 km by train and the rest by car, it takes him 4 hours. But, if he

travels
130 km by train and the rest by car, he takes 18 minutes longer.

Find the
speed of the train and that of the car.

Watch Video Solution

66. Point A and B are 90 km apart from each other on a highway. A car

starts from A and another from B at the same time.
 If they go in the

same direction they meet in 9 hours and if they go in
 opposite

directions they meet in 9/7 hours. Find their speeds.

Watch Video Solution

67. A fraction becomes 4/5, if 1 is added to both numerator and

denominator. If, however, 5 is subtracted from both
 numerator and

denominator, the fraction becomes ½. What is the fraction.

https://dl.doubtnut.com/l/_K0snrs9wjAMX
https://dl.doubtnut.com/l/_nIevjIidYQyq
https://dl.doubtnut.com/l/_lJJ3Bk7bCNAY


Watch Video Solution

68. A fraction is such that if the numerator is multiplied by 3 and the

denominator is reduced by 3, we get 18/11, but if the numerator is

increased
by 8 and the denominator is doubled, we get 2/5. Find the

fraction.

Watch Video Solution

69. The sum of two numbers is 1000 and the difference between their

squares
is 256000. Find the numbers.

Watch Video Solution

70. A two-digit number is 3 more than 4 times the sum of its digits. If

18 is added to the number, the digits are reversed. Find the
number.

Watch Video Solution

https://dl.doubtnut.com/l/_lJJ3Bk7bCNAY
https://dl.doubtnut.com/l/_d0v8CAvxUpYB
https://dl.doubtnut.com/l/_RsrMNNoPzmzK
https://dl.doubtnut.com/l/_FAGjayrxBTjo


Watch Video Solution

71. A two-digit number is such that the product of its digits is 20. If 9 is

added to the number the digits interchange their
 places. Find the

number.

Watch Video Solution

72. Seven times a two-digit number is equal to four times the number

obtained by reversing the digits. If the difference between the digits is

3.
Find the number.

Watch Video Solution

73. The sum of a two digit number and the number formed by

interchanging
its digits is 110. If 10 is subtracted from the
first number,

the new number is 4 more than 5 times the sum of the digits in
 the

first number. Find the first number.

https://dl.doubtnut.com/l/_FAGjayrxBTjo
https://dl.doubtnut.com/l/_LCA35vGa0WLb
https://dl.doubtnut.com/l/_bhymn9gvlyar
https://dl.doubtnut.com/l/_kDQgF0No5Vlp


Watch Video Solution

74. The sum of a two digit number and the number formed by

interchanging
the digit is 132. If 12 is added to the number, the
 new

number becomes 5 times the sum of the digits. Find the number.

Watch Video Solution

75. A two digit number is obtained by either multiplying
sum of digits

by 8 and adding 1 or by multiplying the difference of
 the digits by 13

and adding 2. Find the number.

Watch Video Solution

76. If three times the larger of the two numbers is divided by the

smaller
one, we get 4 as quotient and 3 as the remainder. Also, if seven

https://dl.doubtnut.com/l/_kDQgF0No5Vlp
https://dl.doubtnut.com/l/_a5v11ZELFtE1
https://dl.doubtnut.com/l/_2E7NheGsX6Hy
https://dl.doubtnut.com/l/_W4ejYHTp99eK


times the
 smaller number is divided by the larger one, we get 5 as

quotient and 1 as
remainder. Find the numbers.

Watch Video Solution

77. The sum of a two digit number and the number obtained by

reversing the
 order of its digits is 121, and the two digits differ by 3.

Find the number.

Watch Video Solution

78. In a two digit number, the ten’s digit is three times the unit’s digit.

When the number is decreased by 54, the digits are reversed. Find the

number.

Watch Video Solution

https://dl.doubtnut.com/l/_W4ejYHTp99eK
https://dl.doubtnut.com/l/_5WOfJU4lJQHi
https://dl.doubtnut.com/l/_05Ru4aBzuwXb


79. 4 tables and 3 chairs, together, cost Rs. 2,250 and 3 tables and 4

chairs cost Rs. 1950. Find the cost of 2 chairs and 1 table.

Watch Video Solution

80. Reena has pens and pencils which together are 40 in number. If

she has 5
more pencils and 5 less pens, then number of pencils would

become 4 times the
number of pens. Find the original number of pens

and pencils.

Watch Video Solution

81. 7 audio cassettes and 3 video cassettes cost Rs. 1110, while 5 audio

cassettes and 4 video cassettes cost Rs. 1350. Find the cost of an audio

cassette and a video cassette.

Watch Video Solution

https://dl.doubtnut.com/l/_ic8bsBg1mXS8
https://dl.doubtnut.com/l/_SNGv8kFgZ240
https://dl.doubtnut.com/l/_c2wwT1Qphsis


82. A man has only 20 paise coins and 25 paisa
coins in his purse. If he

has 50 coins in all totalling Rs. 11.25, how many
coins of each kind does

he have?

Watch Video Solution

83. In a two digit number, the unit’s digit is twice the ten’s digit. If 27
is

added to the number, the digits interchange their
 places. Find the

number.

Watch Video Solution

84. Sum of two numbers is 35 and their difference is 13. Find the

numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_n3f0RYFCSZ2z
https://dl.doubtnut.com/l/_G8qAG5fbX6SP
https://dl.doubtnut.com/l/_VtxuDidW8xdO
https://dl.doubtnut.com/l/_Km5xftNO9DIz


85. On selling a T.V. at 5% gain and a fridge at 10% gain, a shopkeeper

gains Rs. 2000. But if he sells the T.V. at 10% gain and the fridge at 5%

loss. he gains Rs. 1500 on the transaction. Find the
actual prices of T.V.

and fridge.

Watch Video Solution

86. A and B each have a certain number of mangoes. A says to B, “if you

give 30 of your mangoes, I will have twice as many as left with you.” B

replies, “if you give me 10, I will have thrice as many as left with you.”

How many mangoes does each have?

Watch Video Solution

87. Show that 
 is a solution of the
 system of

simultaneous linear equations:
 
.

Watch Video Solution

x = 2,   y = 1

3x − 2y = 4;    2x + y = 5

https://dl.doubtnut.com/l/_Km5xftNO9DIz
https://dl.doubtnut.com/l/_aFfbmCZTJATf
https://dl.doubtnut.com/l/_9spPHQU4HiTM


88. Show that 
 is not a solution of
 the system of

simultaneous linear equations: 

Watch Video Solution

x = 2,   y = 1

2x + 7y = 11;    x − 3y = 5

89. Show that 
 and 
 are solutions of the

system of equations: 
.

Watch Video Solution

x = 2,   y = 1 x = 4,   y = 4

3x − 2y = 4;    6x − 4y = 8

90. The coach of a cricket
 team buys 3 bats and 6 balls for Rs 3900.

Later, he buys another bat and 3
 more balls of the same kind for Rs

1300. Represent this situation
algebraically and geometrically.

Watch Video Solution

https://dl.doubtnut.com/l/_Ffc5NMy3fY74
https://dl.doubtnut.com/l/_jC0toFKKOyOo
https://dl.doubtnut.com/l/_n5fEGoGfNLTA


91. Romila went to a stationery shop
 and purchased 2 pencils and 3

erasers for Rs 9. Her friend Sonali saw the new
 variety of pencils and

erasers with Romila, and she also bought 4 pencils and
 6 erasers of

the same land for Rs 18. Represent this situation algebraically
 and

graphically.

Watch Video Solution

92. The path of a train 
is given by the
equation 
and

the path of another
 train 
 is given by the
 equation


. Represent this
situation graphically.

Watch Video Solution

A x + 2y − 4 = 0

B

2x + 4y − 12 = 0

93. Akhila went to a fair
in her village. She wanted to enjoy rides on the

Giant Wheel and play Hoopla
(a game in which you throw a ring on the

items kept in the stall, and if the
ring covers any object completely you

https://dl.doubtnut.com/l/_goIXE1yJu2dn
https://dl.doubtnut.com/l/_e5dTG3MtYbpQ
https://dl.doubtnut.com/l/_Xo9Dp3W4EHZh


get it). The number of times she played
Hoopla is half the number of

rides she had on the Giant Wheel. Each rides
costs Rs 3, and a game of

Hoopla costs Rs 4. If she spent Rs 20 in the fair,
 represent this

situation algebraically and graphically.

Watch Video Solution

94. Aftab tells his
daughter, “Seven years ago, I was seven times as old

as you were then. Also,
three years from now, I shall be three times as

old as you will be.” Is not
 this interesting? Represent this situation

algebraically and graphically.

Watch Video Solution

95. The path of a train 
 is given by the
 equation 

and the path of another
 train 
 is given by the
 equation


. Represent this
situation graphically.

Watch Video Solution

A 3x + 4y − 12 = 0

B

6x + 8y − 48 = 0

https://dl.doubtnut.com/l/_Xo9Dp3W4EHZh
https://dl.doubtnut.com/l/_BtLEQi8D0D5Q
https://dl.doubtnut.com/l/_ZOvZPkuBPPeI


Watch Video Solution

96. Gloria is walking along
 the path joining 
 and 

while Suresh is walking
 along the path joining 
 and 
 .

Represent this
situation graphically.

Watch Video Solution

( − 2,  3) (2,   − 2)

(0,  5) (4,  0)

97. On comparing the ratios
 
 and 
 , and without drawing

them, find out whether the lines representing the following pairs of

linear
 equations intersect at a point, are parallel or coincide:
 (i)


 (ii) 


 (iii) 

Watch Video Solution

,
a1

a2

b1

b2

c1

c2

5x − 4y + 8 = 0;     7x + 6y − 9 = 0

9x + 3y + 12 = 0;    18x + 6y + 24 = 0

6x − 3y + 10 = 0;    2x − y + 9 = 0

https://dl.doubtnut.com/l/_ZOvZPkuBPPeI
https://dl.doubtnut.com/l/_XWfKgt7kYPgy
https://dl.doubtnut.com/l/_wiVSf7taPbEt


98. Given the linear
 equation 
 , write another linear

equation in two variables such that the geometrical representation of

the
 pair so formed is:
 (i) intersecting
 lines (ii) parallel lines (iii)

coincident lines

Watch Video Solution

2x + 3y − 8 = 0

99. The cost of 2kg of
apples and 1 kg of grapes on a day was found to

be Rs 160. After a month, the
cost of 4 kg of apples and 2 kg of grapes

is Rs 300. Represent the situation
algebraically and geometrically.

Watch Video Solution

100. Use a single graph
 paper and draw the graph of the following

equations: 
 . Obtain the

vertices
of the triangle so obtained.

Watch Video Solution

2y − x = 8;    5y − x = 14,    y − 2x = 1

https://dl.doubtnut.com/l/_P5NrLJ9seIzZ
https://dl.doubtnut.com/l/_ZcGn6AFz6URy
https://dl.doubtnut.com/l/_UbBuPd4FIoLb


101. Draw the graphs of the
 following equations on the same graph

paper:
 
. Find the coordinates
of the vertices

of the trapezium formed by these lines. Also, find the area
 of the

trapezium so formed.

Watch Video Solution

2x + y = 2;    2x + y = 6

102. Solve the following
 system of equations graphically:

Watch Video Solution

x + y = 3;    2x + 5y = 12

103. Solve the following
 system of equations graphically:

Watch Video Solution

x − 2y = 5;    2x + 3y = 10

https://dl.doubtnut.com/l/_UbBuPd4FIoLb
https://dl.doubtnut.com/l/_RLmBX0OsnG6U
https://dl.doubtnut.com/l/_dqtuotfHnxzt
https://dl.doubtnut.com/l/_aGPaFd6dhjCf


104. Solve the following
 system of equations graphically:

Watch Video Solution

3x + y + 1 = 0;    2x − 3y + 8 = 0

105. Solve the following
 system of equations graphically:

Watch Video Solution

2x + y − 3 = 0;    2x − 3y − 7 = 0

106. Solve the following
 system of equations graphically:

Watch Video Solution

x + y = 6;    x − y = 2

https://dl.doubtnut.com/l/_vqbrkRmDEmGY
https://dl.doubtnut.com/l/_ZKaBzFRo8BY0
https://dl.doubtnut.com/l/_NwAw6XvmU8z4


107. Solve the following
 system of equations graphically:

Watch Video Solution

x − 2y = 6;    3x − 6y = 0

108. Solve the following
 system of equations graphically:

Watch Video Solution

x + y = 4;    2x − 3y = 3

109. Solve the following
 system of equations graphically:

Watch Video Solution

2x + 3y = 4;    x − y + 3 = 0

https://dl.doubtnut.com/l/_86dfX0CbSwwM
https://dl.doubtnut.com/l/_sp4PcWJ341Kg
https://dl.doubtnut.com/l/_8McJ4XlM3IUO


110. Solve the following
 system of equations :

Watch Video Solution

2x − 3y + 13 = 0;    3x − 2y + 12 = 0

111. Solve the following
 system of equations graphically:

Watch Video Solution

2x + 3y + 5 = 0;    3x − 2y − 12 = 0

112. Show graphically that
following system of equations has infinitely

many solutions: 

Watch Video Solution

2x + 3y = 6;    4x + 6y = 12

https://dl.doubtnut.com/l/_q6Rc9VPUtHoh
https://dl.doubtnut.com/l/_FDoweo5sqT8N
https://dl.doubtnut.com/l/_4TBfAcAqJwub


113. Show graphically that
following system of equations has infinitely

many solutions: 

Watch Video Solution

x − 2y = 5;    3x − 6y = 15

114. Show graphically that
following system of equations has infinitely

many solutions: 

Watch Video Solution

3x + y = 8;    6x + 2y = 16

115. Show graphically that
following system of equations has infinitely

many solutions: 

Watch Video Solution

x − 2y + 11 = 0;    3x − 6y + 33 = 0

https://dl.doubtnut.com/l/_tbsC3tk8pvS7
https://dl.doubtnut.com/l/_I6jtE51GxVL5
https://dl.doubtnut.com/l/_oLKwZX6eSYZE


116. Show graphically that
 following system of equations is in-

consistent (i.e. has no solution): 

Watch Video Solution

3x − 5y = 20;    6x − 10y = − 40

117. Show graphically that
 following system of equations is in-

consistent (i.e. has no solution): 

Watch Video Solution

x − 2y = 6;    3x − 6y = 0

118. Show graphically that
 following system of equations is in-

consistent (i.e. has no solution): 

Watch Video Solution

2y − x = 9;    6y − 3x = 21

https://dl.doubtnut.com/l/_i8O8TgFJDNND
https://dl.doubtnut.com/l/_tkoERWkzADfR
https://dl.doubtnut.com/l/_jcfe0J8w9Vit


119. Show graphically that
 following system of equations is in-

consistent (i.e. has no solution):

Watch Video Solution

3x − 4y − 1 = 0;    2x − y + 5 = 0
8

3

120. Determine graphically
 the vertices of the triangle, the equations

of whose sides are given below:
 (i) 
 and 


(ii) 
and 

Watch Video Solution

2y − x = 8,   5y − x = 14

y − 2x = 1 y = x,   y = 0 3x + 3y = 10

121. Determine, by drawing
 graphs, whether the following system of

linear equations has a unique
 solution or not:

Watch Video Solution

2x − 3y = 6,    x + y = 1

https://dl.doubtnut.com/l/_v8i9erl3W53g
https://dl.doubtnut.com/l/_DYYFUsnvhVPL
https://dl.doubtnut.com/l/_S5QFok9XjEs1


122. Determine, by drawing
 graphs, whether the following system of

linear equations has a unique
 solution or not:

Watch Video Solution

2y = 4x − 6,    2x = y + 3

123. Solve graphically
 following system of linear equations. Also find

the coordinates of the points
 where the lines meet axis of 
 .


Watch Video Solution

y

2x − 5y + 4 = 0,    2x + y − 8 = 0

124. Solve graphically
 following system of linear equations. Also find

the coordinates of the points
 where the lines meet axis of 
 .


Watch Video Solution

y

3x + 2y = 12,    5x − 2y = 4

https://dl.doubtnut.com/l/_WgZFIEfKmKLP
https://dl.doubtnut.com/l/_9ce5coLBoGb2
https://dl.doubtnut.com/l/_L980jrixZV5r


125. Solve graphically
 following system of linear equations. Also find

the coordinates of the points
 where the lines meet axis of 
 .


Watch Video Solution

y

2x + y − 11 = 0,    x − y − 1 = 0

126. Solve graphically
 following system of linear equations. Also find

the coordinates of the points
 where the lines meet axis of 
 .


Watch Video Solution

y

x + 2y − 7 = 0,    2x − y − 4 = 0

127. Solve
 following system of linear equations. Also find the

coordinates of the points
 where the lines meet axis of 
 .


Watch Video Solution

y

3x + y − 5 = 0,    2x − y − 5 = 0

https://dl.doubtnut.com/l/_vQYx37Jw3l2O
https://dl.doubtnut.com/l/_5UYdUBTaYcWt
https://dl.doubtnut.com/l/_4lPd9i9JdRiN


128. Solve following system of linear equations. Also find the

coordinates of the points
 where the lines meet axis of 
 .


Watch Video Solution

y

2x − y − 5 = 0,    x − y − 3 = 0

129. Determine graphically
the coordinates of the vertices of a triangle,

the equations of whose sides
 are:
 (i) 
 and 

(ii) 
and 

Watch Video Solution

y = x,   y = 2x y + x = 6

y = x,   3y = x x + y = 8

130. Solve the following
 system of linear equation graphically and

shade the region between the two
 lines and x-axis.

Watch Video Solution

2x + 3y = 12,    x − y = 1

https://dl.doubtnut.com/l/_FtK4gGS2LlEh
https://dl.doubtnut.com/l/_emnKr9hZBSzy
https://dl.doubtnut.com/l/_Hc0Fx0FQ6hRb


131. Solve the following
 system of linear equation graphically and

shade the region between the two
 lines and x-axis.

Watch Video Solution

3x + 2y − 4 = 0,    2x − 3y − 7 = 0

132. Solve the following
 system of linear equation graphically and

shade the region between the two
 lines and x-axis.

Watch Video Solution

3x + 2y − 11 = 0,    2x − 3y + 10 = 0

133. Draw the graphs of the
 following equations on the same graph

paper: 
 . Find the coordinates
 of the

vertices of the triangle formed by the two straight lines and the
y-axis.

Watch Video Solution

2x + 3y = 12,    x − y = 1

https://dl.doubtnut.com/l/_CVIRq1hZ4ESz
https://dl.doubtnut.com/l/_EXv90igZTdb1
https://dl.doubtnut.com/l/_8cnD2pCHNmRS


134. Draw the graphs of 
 and 
 .

Determine the
 coordinates of the vertices of the triangle formed by

these lines and x-axis
and shade the triangular area. Calculate the area

bounded by these lines and
x-axis.

Watch Video Solution

x − y + 1 = 0 3x + 2y − 12 = 0

135. Solve graphically the
 system of linear equations:


 Find the area bounded
 by

these lines and x-axis.

Watch Video Solution

4x − 3y + 4 = 0,    4x + 3y − 20 = 0

136. Solve the following
 system of linear equations graphically:


 . Shade the region
 bounded by

these lines and y-axis. Also, find the area of the region bounded
 by

these lines and y-axis.

x + y − 11 = 0,    x − y − 1 = 0

https://dl.doubtnut.com/l/_MhvYne6S4CRz
https://dl.doubtnut.com/l/_wkzcOPkDZ3V6
https://dl.doubtnut.com/l/_LtH6178iDuC9


Watch Video Solution

137. Solve graphically
 following system of linear equations. Also, find

the coordinates of the
 points where the lines meet the axis of 
 .

Watch Video Solution

x

2x + y = 6,    x − 2y = − 2

138. Solve the following system of linear equation graphically and

shade the region between the two lines 2x−y=2, 4x−y=8 and x- axis.

Watch Video Solution

139. Solve the following system of linear equation graphically and

shade the region between the two lines x+2y=5,2x−3y=−4 and x- axis.

Watch Video Solution

https://dl.doubtnut.com/l/_LtH6178iDuC9
https://dl.doubtnut.com/l/_DznPDdJz8q4H
https://dl.doubtnut.com/l/_3XucoayQPlKV
https://dl.doubtnut.com/l/_D4A14qCPdreI


140. Draw the graphs of the
 following equations:


 Find the vertices

of
the triangle so obtained. Also, find the area of the triangle.

Watch Video Solution

2x − 3y + 6 = 0,    2x + 3y − 18 = 0,    y − 2 = 0

141. Solve the following
 system of equations graphically:


 Also, find the area of
 the

region bounded by these two lines and y-axis.

Watch Video Solution

2x − 3y + 6 = 0,    2x + 3y − 18 = 0

142. Solve the following
 system of linear equations graphically:


Determine the vertices
 of the

triangle formed by the lines representing the above equation and the

y-axis.

Watch Video Solution

4x − 5y − 20 = 0,    3x + 5y − 15 = 0

https://dl.doubtnut.com/l/_iEXdPwi2UiG6
https://dl.doubtnut.com/l/_bdoCyGmSYibg
https://dl.doubtnut.com/l/_IdSzGbMt3vA8


143. Draw the graphs of the
 equations 
 and 
 .

Determine the
 co-ordinates of the vertices of the triangle formed by

these lines and
y-axis. Calculate the area of the triangle so formed.

Watch Video Solution

5x − y = 5 3x − y = 3

144. Form the pair of linear
 equations in the following problem, and

find the solution graphically: 10
 students of class X took part in

Mathematics quiz.  If the number of girls is 4 more than the
number of

boys, find the number of boys and girls who took part in the quiz.

Watch Video Solution

145. Form the pair of linear
 equations in the following problem, and

find the solution graphically: 5
pencils and 7 pens together cost Rs 50,

https://dl.doubtnut.com/l/_IdSzGbMt3vA8
https://dl.doubtnut.com/l/_Zlz8ehkwqoCk
https://dl.doubtnut.com/l/_pO4bAgA6ymwy
https://dl.doubtnut.com/l/_f4doypsxWvL2


whereas 7 pencils and 5 pens together
cost Rs 46. Find the cost of one

pencil and a pen.

Watch Video Solution

146. Form the pair of linear
 equations in the following problem, and

find the solution graphically: Champa
 went to a ‘sale’ to purchase

some pants and skirts. When her friends asked
her how many of each

she had bought, she answered, “The number of skirts is
two less than

twice the number of pants purchased. Also, the number of skirts
 is

four less than four times the number of pants purchased.” Help her

friends
to find how many pants and skirts Champa bought.

Watch Video Solution

147. Solve the following
 system of equations graphically:


. Shade the region
between the lines and

the y-axis

3x − 4y = 7,    5x + 2y = 3

https://dl.doubtnut.com/l/_f4doypsxWvL2
https://dl.doubtnut.com/l/_lQR85PwKekZ0
https://dl.doubtnut.com/l/_tkFUtBCJ22xI


Watch Video Solution

148. Solve the following
 system of equations graphically:


. Shade the region
between the lines and

the y-axis.

Watch Video Solution

4x − y = 4,    3x + 2y = 14

149. Represent the following
 pair of equations graphically and write

the coordinates of points where the
 lines intersects y-axis.

Watch Video Solution

x + 3y = 6,    2x − 3y = 12

150. Given the linear
 equation 
 , write another linear

equation in two variables such that the geometrical representation of

2x + 3y − 8 = 0

https://dl.doubtnut.com/l/_tkFUtBCJ22xI
https://dl.doubtnut.com/l/_zDAoAJ6kIOYn
https://dl.doubtnut.com/l/_nbbPN1qEc1th
https://dl.doubtnut.com/l/_ZxonRQcZsBuB


the
 pair so formed is
 (i) intersecting
 lines (ii) Parallel lines (iii)

coincident lines

Watch Video Solution

151. Solve the following
 system of equations by using the method of

substitution: 

Watch Video Solution

3x − 5y = − 1,    x − y = − 1

152. Solve the following
 system of equations by using the method of

substitution: 

Watch Video Solution

x + 2y = − 1,    2x − 3y = 12

153. Solve the following
 system of equations by using the method of

substitution: 2x + 3y = 9,    3x + 4y = 5

https://dl.doubtnut.com/l/_ZxonRQcZsBuB
https://dl.doubtnut.com/l/_m9XFYW6jG9OG
https://dl.doubtnut.com/l/_smRJl8Fal1Zp
https://dl.doubtnut.com/l/_pcaEpJuwEAxk


Watch Video Solution

154. Solve the following
 system of equations by using the method of

substitution: 

Watch Video Solution

+ = 2,      − = 4
2x

a

y

b

x

a

y

b

155. Solve the following
 system of equations by using the method of

elimination by equating the
 coefficients:

Watch Video Solution

3x + 2y = 11,    2x + 3y = 4

156. Solve the following
 system of equations by using the method of

elimination by equating the
coefficients:


Watch Video Solution

8x + 5y = 9,    3x + 2y = 4

https://dl.doubtnut.com/l/_pcaEpJuwEAxk
https://dl.doubtnut.com/l/_QDy2jQaSzfW1
https://dl.doubtnut.com/l/_5uSLNKeguhDB
https://dl.doubtnut.com/l/_ukAZdpM6KI16
https://dl.doubtnut.com/l/_tSgORzpOm0OZ


157. Solve: 
 and  and hence find 
 for

which 
.

Watch Video Solution

+ =
2

x

2

3y

1

6
+ = 0

3

x

2

y
' a'

y = ax − 4

158. Solve the following
 system of equations:

Watch Video Solution

8v − 3u = 5uv,    6v − 5u = − 2uv

159. Solve: 
 , where 


and 

Watch Video Solution

− = − 1,     + = 10
5

x + y

2

x − y

15

x + y

7

x − y

x + y ≠ 0 x − y ≠ 0.

160. Solve: 

W h Vid S l i

37x + 41y = 70,    41x + 37y = 86

https://dl.doubtnut.com/l/_tSgORzpOm0OZ
https://dl.doubtnut.com/l/_4yBzowoBJWPc
https://dl.doubtnut.com/l/_fzsHJmiR1hux
https://dl.doubtnut.com/l/_AjETAaUt8Q9S


Watch Video Solution

161. Solve: 

Watch Video Solution

2x − y = 4,    y − z = 6,    x − z = 10

162. Solve the following
 system of equations:

Watch Video Solution

11x + 15y + 23 = 0,    7x − 2y − 20 = 0

163. Solve the following
 system of equations:

Watch Video Solution

3x − 7y + 10 = 0,    y − 2x − 3 = 0

https://dl.doubtnut.com/l/_AjETAaUt8Q9S
https://dl.doubtnut.com/l/_RCfhUNZ9fXVm
https://dl.doubtnut.com/l/_h07cpMckPObK
https://dl.doubtnut.com/l/_jEsUh34xrE8A


164. Solve the following
 system of equations:

Watch Video Solution

0. 4x + 0. 3y = 1. 7,    0. 7x − 0. 2y = 0. 8

165. Solve the following
 system of equations:

Watch Video Solution

+ y = 0. 8,    = 10
x

2
7

x +
y

2

166. Solve the following
 system of equations:

Watch Video Solution

7(y + 3) − 2(x + 2) = 14,      4(y − 2) + 3(x − 3) = 2

https://dl.doubtnut.com/l/_3SJ0uMrMLWDm
https://dl.doubtnut.com/l/_cR7MAnIeVNZf
https://dl.doubtnut.com/l/_q12w6aeEY6YU


167. Solve the following
 system of equations:

Watch Video Solution

+ = 5,     − = 6
x

6

y

3
x

2

y

9

168. Solve the following
 system of equations:

Watch Video Solution

+ = 11,     − = − 7
x

3

y

4

5x

6

y

3

169. Solve the following
 system of equations:

Watch Video Solution

+ 3y = 8,     − 4y = − 5
4
x

6

x

https://dl.doubtnut.com/l/_N7eiJCFuDLUj
https://dl.doubtnut.com/l/_zvF4JaGL6ja5
https://dl.doubtnut.com/l/_IeU8TASenkW0


170. Solve the following
 system of equations:

Watch Video Solution

x + = 4,     + 2y = 5
y

2
x

3

171. Solve the following
 system of equations:

Watch Video Solution

x + 2y = ,     2x + y =
3

2

3

2

172. Solve the following
 system of equations:

Watch Video Solution

√2x − √3y = 0,     √3x − √8y = 0

https://dl.doubtnut.com/l/_HpWUzIQ9F765
https://dl.doubtnut.com/l/_VbAlsFOoEr89
https://dl.doubtnut.com/l/_Viu3bs3Rh8zz


173. Solve the following
 system of equations:

Watch Video Solution

2x − = 9,     3x + = 2,  y ≠ 0
3

y

7
y

174. Solve the following
 system of equations:

Watch Video Solution

0. 5x + 0. 7y = 0. 74,     0. 3x + 0. 5y = 0. 5

175. Solve the following
 system of equations:

Watch Video Solution

+ = 3,     − = 5
1

7x

1

6y

1

2x

1

3y

https://dl.doubtnut.com/l/_lVTVNzt3Ceui
https://dl.doubtnut.com/l/_gzFYJ9hF9gRX
https://dl.doubtnut.com/l/_564VUj6jKEGv


176. Solve the following
 system of equations:

Watch Video Solution

+ = 2,     + =
1

2x

1

3y

1

3x

1

2y

13

6

177. Solve the following
 system of equations:

Watch Video Solution

= 2,     = 6
x + y

xy

x − y

xy

178. Solve the following
 system of equations:

Watch Video Solution

+ = 17,     + =
15

u

2

v

1

u

1

v

36

5

https://dl.doubtnut.com/l/_abHMRZ21Jq4C
https://dl.doubtnut.com/l/_8lqGYgLGdzuD
https://dl.doubtnut.com/l/_sfB1mKt4IFff


179. Solve the following
 system of equations:

Watch Video Solution

− = − 9,     + = 5
3

x

1

y

2

x

3

y

180. Solve the following
 system of equations:

Watch Video Solution

+ = 1,      + = 19,  x ≠ 0,  y ≠ 0
2

x

5

y

60

x

40

y

181. Solve the following
 system of equations:

Watch Video Solution

+ = 12,     − = 8,  x ≠ 0,  y ≠ 0
1

5x

1

6y

1

3x

3

7y

https://dl.doubtnut.com/l/_qErwT9K7rVw4
https://dl.doubtnut.com/l/_2Q9ZilUUJ9iU
https://dl.doubtnut.com/l/_iLf7cujy2aFP


182. Solve the following
 system of equations:


where 

Watch Video Solution

+ = ,     + = ,  
2

x

3

y

9

xy

4
x

9

y

21

xy
x ≠ 0,  y ≠ 0

183. Solve the following
 system of equations:

Watch Video Solution

+ = 5,       + = 14
22

x + y

15

x − y

55

x + y

45
x − y

184. Solve the following
 system of equations:

Watch Video Solution

− = − 1,       + = 10
5

x + y

2

x − y

15

x + y

7

x − y

https://dl.doubtnut.com/l/_BgNohUvKQXYY
https://dl.doubtnut.com/l/_vevqldwsx6yy
https://dl.doubtnut.com/l/_rz84KrvTSpQV


185. Solve the following
 system of equations:

Watch Video Solution

+ = 2,      − = 1
3

x + y

2

x − y

9

x + y

4
x − y

186. Solve the following
 system of equations:

.

Watch Video Solution

+ = ,         − =
1

2(x + 2y)

5

3(3x − 2y)

−3
2

5

4(x + 2y)

3

5(3x − 2y)

61

60

187. Solve the following
 system of equations:


, where 
and

Watch Video Solution

− = ,     + =
5

x + 1

2

y − 1

1

2

10

x + 1

2

y − 1

5

2
x ≠ − 1

y ≠ 1

https://dl.doubtnut.com/l/_9ckF5Ory6ygn
https://dl.doubtnut.com/l/_eK9ngF4OZk6z
https://dl.doubtnut.com/l/_fjwN2091vG8v
https://dl.doubtnut.com/l/_cuHYYXkcQBMk


188. Solve the following
 system of equations:

Watch Video Solution

x + y = 5xy,     3x + 2y = 13xy,    x ≠ 0,    y ≠ 0

189. Solve the following
 system of equations:

Watch Video Solution

x + y = 2xy,      = 6,   x ≠ 0,  y ≠ 0
x − y

xy

190. Solve the following
 system of equations:

Watch Video Solution

2(3u − v) = 5uv,     2(u + 3v) = 5uv

191. Solve the following
 system of equations:

+ = ,     + = 2
2

3x + 2y

3

3x − 2y
17
5

5

3x + 2y

1

3x − 2y

https://dl.doubtnut.com/l/_cuHYYXkcQBMk
https://dl.doubtnut.com/l/_5ASAzkrxlA1H
https://dl.doubtnut.com/l/_GmyyhHNCtbcs
https://dl.doubtnut.com/l/_Yyrav12NzXZs


Watch Video Solution

192. Solve the following
 system of equations:

Watch Video Solution

+ 3y = 14,      − 4y = 23
4

x

3

x

193. Solve the following
 system of equations:

Watch Video Solution

99x + 101y = 499,      101x + 99y = 501

194. Solve the following
 system of equations:

Watch Video Solution

23x − 29y = 98,     29x − 23y = 110

https://dl.doubtnut.com/l/_Yyrav12NzXZs
https://dl.doubtnut.com/l/_5wOUkRXwJ3AE
https://dl.doubtnut.com/l/_1jmKnO96bqN9
https://dl.doubtnut.com/l/_CaCwoJRzydlt


195. Solve the following
 system of equations:

Watch Video Solution

x − y + z = 4,     x − 2y − 2z = 9,     2x + y + 3z = 1

196. Solve the following
 system of equations:

Watch Video Solution

+ = 13,       − = − 2
2

x

3

y

5

x

4
y

197. Solve the following
 system of equations:

Watch Video Solution

+ = 2,      − = 1
5

x − 1

1

y − 2

6

x − 1

3

y − 2

https://dl.doubtnut.com/l/_Y3WQXEbbkR5g
https://dl.doubtnut.com/l/_u1Gu1Qi3lUDw
https://dl.doubtnut.com/l/_lOvrAbxtmFm4


198. Solve the following system
 of equations:

Watch Video Solution

+ = 4,      − = − 2
10

x + y

2

x − y

15

x + y

9

x − y

199. Solve the following
 system of equations:

Watch Video Solution

+ = ,      − = −
1

3x + y

1

3x − y

3

4

1

2(3x + y)

1

2(3x − y)

1

8

200. Solve the following
 system of equations:

Watch Video Solution

+ = 2,      − = − 1
2

√x

3

√y

4

√x

9

√y

https://dl.doubtnut.com/l/_PSowccspJnjN
https://dl.doubtnut.com/l/_c4rKXrPASUl7
https://dl.doubtnut.com/l/_DGeAnFv3MiMa


201. Solve the following
 system of equations:

Watch Video Solution

= 5,     = 15
7x − 2y

xy

8x + 7y

xy

202. Solve the following
 system of equations:

Watch Video Solution

152x − 378y = − 74,      − 378x + 152y = − 604

203. Solve the following
 system of equations by using the method of

cross-multiplication: 

Watch Video Solution

x + y = 7,     5x + 12y = 7

https://dl.doubtnut.com/l/_RYy2l80QZq4Y
https://dl.doubtnut.com/l/_6ENDdvEhaZW7
https://dl.doubtnut.com/l/_2pl6r3e3tdmp


204. Solve the following
system of equations by using the method of

cross-multiplication: 

Watch Video Solution

2x + 3y = 17,     3x − 2y = 6

205. Solve the following
 system of equations by using the method of

cross-multiplication: 

Watch Video Solution

2x − y − 3 = 0,     4x + y − 3 = 0

206. Solve the following
 system of equations by using the method of

cross-multiplication: 

Watch Video Solution

2x + y − 35 = 0,     3x + 4y − 65 = 0

207. Solve: 

W h Vid S l i

ax + by = a − b,     bx − ay = a + b

https://dl.doubtnut.com/l/_EFzAXcrmSFAI
https://dl.doubtnut.com/l/_6zaPi5f46PJ5
https://dl.doubtnut.com/l/_aLyuXSMYw1gm
https://dl.doubtnut.com/l/_QjjGPTOOE2xf


Watch Video Solution

208. Solve the following
 system of equations by method of cross-

multiplication: 

Watch Video Solution

+ = 2,     ax − by = a2 − b2x

a

y

b

209. Solve the following
 system of equations in 
 and 




Watch Video Solution

x y

(a − b)x + (a + b)y = a2 − 2ab − b2,     (a + b)(x + y) = a2 + b2

210. Solve the following
 system of equations in 
 and 
 :



, where 
.

Watch Video Solution

x y

− = 0,      + = a2 + b2a

x

b

y

ab2

x

a2b

y
x,  y ≠ 0

https://dl.doubtnut.com/l/_QjjGPTOOE2xf
https://dl.doubtnut.com/l/_GsCYoasRMHpj
https://dl.doubtnut.com/l/_fcwk0RKNgj9y
https://dl.doubtnut.com/l/_OgeXpT5IosB8


211. Solve: 

Watch Video Solution

ax + by = c,     bx + ay = 1 + c

212. Solve the following
 system of equations:

Watch Video Solution

x + y = a + b,     ax − by = a2 − b2

213. Solve the following
 system of equations by method of cross-

multiplication: 

Watch Video Solution

x + 2y + 1 = 0,     2x − 3y − 12 = 0

214. Solve the following
 system of equations by method of

substitution: 

W h Vid S l i

3x + 2y + 25 = 0,     2x + y + 10 = 0

https://dl.doubtnut.com/l/_pd6XMYSW96Vy
https://dl.doubtnut.com/l/_c3Fyp0uvjYsY
https://dl.doubtnut.com/l/_TaVm1SV6JrQi
https://dl.doubtnut.com/l/_Zpkeyc1UmrjW


Watch Video Solution

215. Solve the following
 system of equations by method of cross-

multiplication: 

Watch Video Solution

2x + y = 35,     3x + 4y = 65

216. Solve the following
 system of equations by method of cross-

multiplication: 

Watch Video Solution

2x − y = 6,     x − y = 2

217. Solve the following
 system of equations by method of cross-

multiplication: 

Watch Video Solution

= 2,     = 6
x + y

xy

x − y

xy

https://dl.doubtnut.com/l/_Zpkeyc1UmrjW
https://dl.doubtnut.com/l/_H8g9b3L9LPMb
https://dl.doubtnut.com/l/_UR2PJyftjUHv
https://dl.doubtnut.com/l/_kMFkmIiJRRJD


218. Solve the following
 system of equations by method of cross-

multiplication: 

Watch Video Solution

ax + by = a − b,     bx − ay = a + b

219. Solve the following
 system of equations by method of cross-

multiplication: 

Watch Video Solution

x + ay = b,     ax − by = c

220. Solve the following
 system of equations by method of cross-

multiplication: 

Watch Video Solution

ax + by = a2,     bx + ay = b2

https://dl.doubtnut.com/l/_EMheEbggQrty
https://dl.doubtnut.com/l/_nm8UmvHYyvoQ
https://dl.doubtnut.com/l/_hSenbuQ7DznG


221. Solve the following
 system of equations by method of cross-

multiplication: 

Watch Video Solution

+ = 2,     ax − by = a2 − b2x

a

y

b

222. Solve the following
 system of equations by method of cross-

multiplication: 

Watch Video Solution

+ = a + b,     + = 2
x

a

y

b

x

a2

y

b2

223. Solve the following
 system of equations by method of cross-

multiplication: 

Watch Video Solution

= ,      ax + by = a2 + b2x

a

y

b

https://dl.doubtnut.com/l/_Qzx8D841pb3L
https://dl.doubtnut.com/l/_z9LjBovD5tXN
https://dl.doubtnut.com/l/_AQvHezSs64S8


224. Solve the following
 system of equations by method of cross-

multiplication: 
 ,

where 
and 

Watch Video Solution

− = − 1,     + = 10
5

x + y

2

x − y

15

x + y

7
x − y

x ≠ 0 y ≠ 0

225. Solve the following
 system of equations by method of cross-

multiplication: 
 , where 
 and 

Watch Video Solution

+ = 13,     − = − 2
2

x

3

y

5

x

4
y

x ≠ 0

y ≠ 0

226. Solve the following
 system of equations by method of cross-

multiplication: 

Watch Video Solution

ax + by = ,     3x + 5y = 4
a + b

2

https://dl.doubtnut.com/l/_wR0qUXK396I2
https://dl.doubtnut.com/l/_yTWIfky648GP
https://dl.doubtnut.com/l/_vKKaxZsBdIyg
https://dl.doubtnut.com/l/_twYGDy17MFMt


227. Solve the following
 system of equations by method of cross-

multiplication: 

Watch Video Solution

2ax + 3by = a + 2b,     3ax + 2by = 2a + b

228. Solve the following
 system of equations by method of cross-

multiplication: 

Watch Video Solution

5ax + 6by = 28,     3ax + 4by = 18

229. Solve the following
 system of equations by method of cross-

multiplication:

Watch Video Solution

(a + 2b)x + (2a − b)y = 2,       (a − 2b)x + (2a + b)y = 3

https://dl.doubtnut.com/l/_twYGDy17MFMt
https://dl.doubtnut.com/l/_SSDjdO6VM3pM
https://dl.doubtnut.com/l/_Qd1mEFVOCfim


230. Solve the following
 system of equations by method of cross-

multiplication:

Watch Video Solution

x(a − b + ) = y(a + b − ),       x + y = 2a2ab

a − b

ab

a + b

231. Solve the following
 system of equations by method of cross-

multiplication: 
 and



.

Watch Video Solution

bx + cy = a + b,    

ax( − ) + cy( − ) =
1

a − b

1

a + b

1

b − a

1

b + a

2a

a + b

232. Solve the following
 system of equations by method of cross-

multiplication:

Watch Video Solution

(a − b)x + (a + b)y = 2a2 − 2b2,     (a + b)(x + y) = 4ab

https://dl.doubtnut.com/l/_XCcpKYY1rdeL
https://dl.doubtnut.com/l/_IzmDZka9pEpu
https://dl.doubtnut.com/l/_fBGqzSbNqa0z


233. Solve the following
 system of equations by method of cross-

multiplication: 

Watch Video Solution

a2x + b2y = c2,     b2x + a2y = d2

234. Solve the following
 system of equations by method of cross-

multiplication: 

Watch Video Solution

+ = 5,     + = 9
57

x + y

6

x − y

38

x + y

21

x − y

235. Solve the following
 system of equations by method of cross-

multiplication: 

Watch Video Solution

6(ax + by) = 3a + 2b,     6(bx − ay) = 3b − 2a

https://dl.doubtnut.com/l/_OQ4xao0yNMYQ
https://dl.doubtnut.com/l/_1P6muxW5nbhL
https://dl.doubtnut.com/l/_JO7PBj2Axrm0


236. Solve the following
 system of equations by method of cross-

multiplication: 

Watch Video Solution

− = 0,     + = a + b,     x,  y ≠ 0
a2

x

b2

y

a2b

x

b2a

y

237. Solve the following
 system of equations by method of cross-

multiplication: 

Watch Video Solution

mx − ny = m2 + n2,     x + y = 2m

238. Solve the following
 system of equations by method of cross-

multiplication: 

Watch Video Solution

− = a + b,     ax − by = 2ab
ax

b

by

a

https://dl.doubtnut.com/l/_rWJktvCVwFR4
https://dl.doubtnut.com/l/_w9yYx7pOmYT7
https://dl.doubtnut.com/l/_1pZnFSwB57YG


239. Solve the following
 system of equations by method of cross-

multiplication: 

Watch Video Solution

x + y = a2 + b2,     x + y = 2ab
b

a

a

b

240. For the following
 system of equations determine the value of 

for which the given
 system of equations has a unique solution:

Watch Video Solution

k

x − ky = 2,     3x + 2y = − 5

241. For the following
 system of equations determine the value of 

for which the given
 system of equations has a unique solution:

Watch Video Solution

k

2x − 3y = 1,     kx + 5y = 7

https://dl.doubtnut.com/l/_m670C8ZJJxnP
https://dl.doubtnut.com/l/_m31PqpdNrHkQ
https://dl.doubtnut.com/l/_Gwn7ZE5YXZIn
https://dl.doubtnut.com/l/_mrZ994LVoaJM


242. For the following
 system of equations determine the value of 

for which the given
 system of equations has a unique solution:

Watch Video Solution

k

2x + 3y − 5 = 0,     kx − 6y − 8 = 0

243. For the following
 system of equations determine the value of 

for which the given
 system of equations has a unique solution:

Watch Video Solution

k

2x + ky = 1,     5x − 7y = 5

244. For the following
 system of equations determine the value of 

for which the given
 system has infinitely many solutions:

Watch Video Solution

k

5x + 2y = k,     10x + 4y = 3

https://dl.doubtnut.com/l/_mrZ994LVoaJM
https://dl.doubtnut.com/l/_Upfn3w8U4TZr
https://dl.doubtnut.com/l/_bdZirG3MUaZ9
https://dl.doubtnut.com/l/_uQJpneRPyp8b


245. For the following
 system of equations determine the value of 

for which the given
 system has infinitely many solutions:

Watch Video Solution

k

(k − 3)x + 3y = k,     kx + ky = 12

246. For the following
 system of equations determine the value of 

for which the given
 system has infinitely many solutions:

Watch Video Solution

k

kx + 3y = k − 3,     12x + ky = k

247. Find the value of 
for which the following
system of equation has

no solution: 

Watch Video Solution

k

3x − 4y + 7 = 0,     kx + 3y − 5 = 0

https://dl.doubtnut.com/l/_uQJpneRPyp8b
https://dl.doubtnut.com/l/_usc5DGrZ54fT
https://dl.doubtnut.com/l/_twceohjBlZT7


248. Find the value of 
for which the following
system of equation has

no solution: 

Watch Video Solution

k

2x − ky + 3 = 0,     3x + 2y − 1 = 0

249. For what value of 
 , will the following
system of equations have

infinitely many solutions?


Watch Video Solution

k

2x + 3y = 4,     (k + 2)x + 6y = 3k + 2

250. For what value of 
will the following
system of linear equations

has no solution?


Watch Video Solution

k

3x + y = 1,     (2k − 1)x + (k − 1)y = 2k + 1

https://dl.doubtnut.com/l/_w4lZ4vVqK3Ff
https://dl.doubtnut.com/l/_AGLQYviayqmF
https://dl.doubtnut.com/l/_6f7rwYmumfF6


251. Find the value of 
 for which the following
 system of linear

equations has infinite solutions:

Watch Video Solution

k

x + (k + 1)y = 5,     (k + 1)x + 9y = 8k − 1

252. Find the values of 
 and 
 for which the following
 system of

equations has infinite number of solutions:

Watch Video Solution

p q

2x + 3y = 7,     (p + q)x + (2p − q)y = 21

253. For what value of 
 , will the system of
 equations


 has (i) a unique
 solution? (ii) no

solution

Watch Video Solution

k

x + 2y = 5,     3x + ky − 15 = 0

https://dl.doubtnut.com/l/_8Y41Yx8iPx24
https://dl.doubtnut.com/l/_3FTFsDablWAe
https://dl.doubtnut.com/l/_iq6pWocZQZMt


254. Find the values of 
 and 
 for which the following
 system of

linear equations has infinite number of solutions:

Watch Video Solution

α β

2x + 3y = 7,     2αx + (α + β)y = 28

255. Determine the value of 
 so that the following
 linear equations

have no solution:

Watch Video Solution

k

(3k + 1)x + 3y − 2 = 0,     (k2 + 1)x + (k − 2)y − 5 = 0

256. In the following system
 of equations determine whether it has

unique solution, no solution or
infinitely many solutions. In case there

is a unique solution, find it: 

Watch Video Solution

x − 3y = 3,     3x − 9y = 2

https://dl.doubtnut.com/l/_dyGJMDv2AOJ6
https://dl.doubtnut.com/l/_X4V3ZdWfqgvd
https://dl.doubtnut.com/l/_JjlnCHYMm7Tl


257. In the following system
 of equations determine whether it has

unique solution, no solution or
infinitely many solutions. In case there

is a unique solution, find it: 

Watch Video Solution

2x + y = 5,     4x + 2y = 10

258. In the following system
 of equations determine whether it has

unique solution, no solution or
infinitely many solutions. In case there

is a unique solution, find it: 

Watch Video Solution

3x − 5y = 20,    6x − 10y = 40

259. In the following system
 of equations determine whether it has

unique solution, no solution or
infinitely many solutions. In case there

is a unique solution, find it: 

Watch Video Solution

x − 2y = 8,     5x − 10y = 10

https://dl.doubtnut.com/l/_eKe2d6Y3KJW5
https://dl.doubtnut.com/l/_gKgkb8jnOUwu
https://dl.doubtnut.com/l/_1tIYCZSC9G5r


260. Find the value of 
 for which the following
 system of equations

has a unique solution:


Watch Video Solution

k

kx + 2y = 5,     3x + y = 1.

261. Find the value of 
 for which the following
 system of equations

has a unique solution:


Watch Video Solution

k

4x + ky + 8 = 0,     2x + 2y + 2 = 0

262. Find the value of 
 for which the following
 system of equations

has a unique solution:


Watch Video Solution

k

4x − 5y = k,     2x − 3y = 12

https://dl.doubtnut.com/l/_KbZnHVKpTCLV
https://dl.doubtnut.com/l/_TRnk0cOpo3uH
https://dl.doubtnut.com/l/_9rwq3kJvUu60


263. Find the value of 
 for which the following
 system of equations

has a unique solution:


Watch Video Solution

k

x + 2y = 3,     5x + ky + 7 = 0

264. Find the value of 
 for which following
system of equations have

infinitely many solution: 

Watch Video Solution

k

2x + 3y − 5 = 0,     6x + ky − 15 = 0

265. Find the value of 
 for which following
system of equations have

infinitely many solution: 

Watch Video Solution

k

4x + 5y = 3,     kx + 15y = 9

https://dl.doubtnut.com/l/_Ekl3974IQ5XQ
https://dl.doubtnut.com/l/_VFXc8OB2Tt65
https://dl.doubtnut.com/l/_1atbcwOCbP1U


266. Find the value of 
 for which following
system of equations have

infinitely many solution: 

Watch Video Solution

k

kx − 2y + 6 = 0,     4x − 3y + 9 = 0

267. Find the value of 
 for which following
system of equations have

infinitely many solution: 

Watch Video Solution

k

8x + 5y = 9,     kx + 10y = 18

268. Find the value of 
 for which following
system of equations have

infinitely many solution:

Watch Video Solution

k

2x − 3y = 7,     (k + 2)x − (2k + 1)y = 3(2k − 1)

https://dl.doubtnut.com/l/_GG17ZQf5bIjX
https://dl.doubtnut.com/l/_cLEvQvQbSKOU
https://dl.doubtnut.com/l/_q9laQix8JdXh


269. Find the value of 
 for which following
system of equations have

infinitely many solution:

Watch Video Solution

k

2x + 3y = 2,     (k + 2)x + (2k + 1)y = 2(k − 1)

270. Find the value of 
 for which following
system of equations have

infinitely many solution:

Watch Video Solution

k

x + (k + 1)y = 4,     (k + 1)x + 9y = 5k + 2

271. Find the value of 
 for which following
system of equations have

infinitely many solution:

Watch Video Solution

k

kx + 3y = 2k + 1,     2(k + 1)x + 9y = 7k + 1

https://dl.doubtnut.com/l/_j9SVdHPpW3k4
https://dl.doubtnut.com/l/_cOd77a3GqY2K
https://dl.doubtnut.com/l/_srBNroFQL8z3


272. Find the value of 
 for which following
system of equations have

infinitely many solution:

Watch Video Solution

k

2x + (k − 2)y = k,     6x + (2k − 1)y = 2k + 5

273. Find the value of 
 for which following
system of equations have

infinitely many solution:

Watch Video Solution

k

2x + 3y = 7,     (k + 1)x + (2k − 1)y = 4k + 1

274. Find the value of 
 for which following
system of equations have

infinitely many solution: 

Watch Video Solution

k

2x + 3y = k,     (k − 1)x + (k + 2)y = 3k

https://dl.doubtnut.com/l/_o5GpZ7JYHT31
https://dl.doubtnut.com/l/_bj3CVrguVKgY
https://dl.doubtnut.com/l/_3M2ES1SZXZ8m
https://dl.doubtnut.com/l/_ebQygM6VI4vZ


275. Find the value of 
for which the following
system of equation has

no solution :  , 

A. -10

B. 10

C. -15

D. 15

Answer: C

Watch Video Solution

k

kx − 5y = 2 6x + 2y = 7

276. Find the value of 
for which the following
system of equation has

no solution: 

Watch Video Solution

k

x + 2y = 0,     2x + ky = 5

https://dl.doubtnut.com/l/_ebQygM6VI4vZ
https://dl.doubtnut.com/l/_GFhiE9bAC6Pk


277. Find the value of 
for which the following
system of equation has

no solution: 

Watch Video Solution

k

3x − 4y + 7 = 0,     kx + 3y − 5 = 0

278. Find the value of 
for which the following
system of equation has

no solution: 

Watch Video Solution

k

2x − ky + 3 = 0,     3x + 2y − 1 = 0

279. Find the value of 
for which the following
system of equation has

no solution: 

Watch Video Solution

k

2x + ky = 11,     5x − 7y = 5

https://dl.doubtnut.com/l/_RfEzV9JSrsHi
https://dl.doubtnut.com/l/_3YI0RSDEHlPa
https://dl.doubtnut.com/l/_Fp7zd6cEl558


280. Find the value of 
 for which the following
 system of equation

has no solution: 

Watch Video Solution

k

kx + 3y = 3,     12x + ky = 6

281. For what value of 
 of the following system
 of equations will be

inconsistent? 

Watch Video Solution

k

4x + 6y = 11,     2x + ky = 7

282. For what value of 
 , the following system
 of equations will

represent the coincident lines?


Watch Video Solution

k

x + 2y + 7 = 0,     2x + ky + 14 = 0

https://dl.doubtnut.com/l/_qHaqr4oPO74j
https://dl.doubtnut.com/l/_YDrHXpdVM5ki
https://dl.doubtnut.com/l/_ytmvFf0LnemN


283. Obtain the condition
for the following system of linear equations

to have a unique solution: 

Watch Video Solution

ax + by = c,     lx + my = n

284. Determine the values of
 
 and 
 so that the following
 system of

linear equations have infinitely many solutions:

Watch Video Solution

a b

(2a − 1)x + 3y − 5 = 0,     3x + (b − 1)y − 2 = 0

285. Find the values of 
and 
for which the following
system of linear

equations has infinite number of solutions:

Watch Video Solution

a b

2x − 3y = 7,     (a + b)x − (a + b − 3)y = 4a + b

https://dl.doubtnut.com/l/_84GjZVmLqn4d
https://dl.doubtnut.com/l/_dLJoD5Fnu1yN
https://dl.doubtnut.com/l/_ufpdoWulr4oh
https://dl.doubtnut.com/l/_JZePI0Kjpit0


286. Find the values of 
and 
for which the following
system of linear

equations has infinite number of solutions:

Watch Video Solution

p q

2x + 3y = 9,     (p + q)x + (2p − q)y = 3(p + q + 1)

287. Find the values of 
 and 
 for which the following
 system of

equations has infinitely many solutions:

Watch Video Solution

a b

(2a − 1)x − 3y = 5,     3x + (b − 2)y = 3

288. Find the values of 
 and 
 for which the following
 system of

equations has infinitely many solutions:

Watch Video Solution

a b

2x − (2a + 5)y = 5,     (2b + 1)x − 9y = 15

https://dl.doubtnut.com/l/_JZePI0Kjpit0
https://dl.doubtnut.com/l/_aghJDGmj5qci
https://dl.doubtnut.com/l/_Ui427EtHwhK5
https://dl.doubtnut.com/l/_J3o6oVtLB24d


289. Find the values of 
 and 
 for which the following
 system of

equations has infinitely many solutions:

Watch Video Solution

a b

(a − 1)x + 3y = 2,     6x + (1 − 2b)y = 6

290. Find the values of 
 and 
 for which the following
 system of

equations has infinitely many solutions:

Watch Video Solution

a b

3x + 4y = 12,     (a + b)x + 2(a − b)y = 5a − 1

291. Find the values of 
 and 
 for which the following
 system of

equations has infinitely many solutions:

Watch Video Solution

a b

2x + 3y = 7,     (a − b)x + (a + b)y = 3a + b − 2

https://dl.doubtnut.com/l/_J3o6oVtLB24d
https://dl.doubtnut.com/l/_n8uoq209ENdm
https://dl.doubtnut.com/l/_RdSDwE6qAAg9
https://dl.doubtnut.com/l/_kxU8WjbeStAQ


292. Find the values of 
 and 
 for which the following
 system of

equations has infinitely many solutions:

Watch Video Solution

a b

2x + 3y − 7 = 0,     (a − 1)x + (a + 1)y = (3a − 1)

293. Find the value of 
 for which the following
 system of equations

has infinitely many solutions:

Watch Video Solution

a

2x + 3y = 7,     (a − 1)x + (a + 2)y = 3a

294. 4 chairs and 3 tables
cost Rs 2100 and 5 chairs and 2 tables cost

Rs 1750. Find the cost of a chair
and a table separately.

Watch Video Solution

https://dl.doubtnut.com/l/_kxU8WjbeStAQ
https://dl.doubtnut.com/l/_PSzBeCbPZGCJ
https://dl.doubtnut.com/l/_waoLXUkn1jmo


295. 2 tables and 3 chairs
together cost Rs 2000 whereas 3 tables and

2 chairs together cost Rs 2500.
 Find the total cost of 1 table and 5

chairs

Watch Video Solution

296. 5 pens and 6 pencils
together cost Rs 9 and 3 pens and 2 pencils

cost Rs 5. Find the cost of 1 pen
and 1 pencil.

Watch Video Solution

297. 3 bags and 4 pens together
 cost Rs 257 whereas 4 bags and 3

pens together cost Rs 324. Find the total
cost of 1 bag and 10 pens.

Watch Video Solution

https://dl.doubtnut.com/l/_nIYVYd00phJV
https://dl.doubtnut.com/l/_IIZnszSfGcbi
https://dl.doubtnut.com/l/_kpvEtAjGXp7y


298. 5 books and 7 pens
 together cost Rs 79 whereas 7 books and 5

pens together cost Rs 77. Find the
total cost of 1 book and 2 pens.

Watch Video Solution

299. The coach of a cricket
 team buys 7 bats and 6 balls for Rs 3800.

Later, he buys 3 bats and 5 balls
for Rs 1750. Find the cost of each bat

and each ball.

Watch Video Solution

300. One says, “Give me a
hundred, friend! I shall then become twice as

rich as you.” The other
replies, “If you give me ten, I shall be six times

as rich as you.” Tell me
what is the amount of their respective capital?

Watch Video Solution

https://dl.doubtnut.com/l/_GjpzOpcYMYrR
https://dl.doubtnut.com/l/_K8WHAdhESmk2
https://dl.doubtnut.com/l/_qUVBMNhiofqv
https://dl.doubtnut.com/l/_MCXFhmKFVYZL


301. A lending library has a
fixed charge for the first three days and an

additional charge for each day
thereafter. Saritha paid Rs 27 for a book

kept for seven days, while Susy
paid Rs 21 for the book she kept for five

days. Find the fixed charge and the
charge for each extra day.

Watch Video Solution

302. The sum of the digits
 of a two digit number is 8 and the

difference between the number and that
 formed by reversing the

digits is 18. Find the number.

Watch Video Solution

303. The sum of a two-digit
 number and the number obtained by

reversing the order of its digits is 165.
 If the digits differ by 3, find the

number.

Watch Video Solution

https://dl.doubtnut.com/l/_MCXFhmKFVYZL
https://dl.doubtnut.com/l/_cPQWy601yuFi
https://dl.doubtnut.com/l/_kJdamiKXOpTE


304. The sum of two numbers
 is 8. If their sum is four times their

difference, find the numbers.

Watch Video Solution

305. The sum of digits of a
 two digit number is 13. If the number is

subtracted from the one obtained by
 interchanging the digits, the

result is 45. What is the number?

Watch Video Solution

306. A number consists of
 two digits whose sum is five. When the

digits are reversed, the number
 becomes greater by nine. Find the

number.

Watch Video Solution

https://dl.doubtnut.com/l/_2dYsVTQyzGDR
https://dl.doubtnut.com/l/_CKteTFVnc78k
https://dl.doubtnut.com/l/_mAIa8GeOUAg2
https://dl.doubtnut.com/l/_e67cj7DScwUl


307. The sum of digits of a
 two digit number is 15. The number

obtained by reversing the order of digits
of the given number exceeds

the given number by 9. Find the given number.

Watch Video Solution

308. The sum of a two-digit
 number and the number formed by

reversing the order of digits is 66. If the
two digits differ by 2, find the

number. How many such numbers are there?

Watch Video Solution

309. The sum of a two digit
 number and the number obtained by

reversing the order of its digits is 99. If
 the digits differ by 3, find the

number.

Watch Video Solution

https://dl.doubtnut.com/l/_e67cj7DScwUl
https://dl.doubtnut.com/l/_q3j098V7uyDe
https://dl.doubtnut.com/l/_S4OovplpwaTD
https://dl.doubtnut.com/l/_raLszPbBVo23


310. A two-digit number is 4
times the sum of its digits. If 18 is added

to the number, the digits are
reversed. Find the number.

Watch Video Solution

311. A two-digit number is 4
more than 6 times the sum of its digits. If

18 is subtracted from the number,
 the digits are reversed. Find the

number.

Watch Video Solution

312. A two-digit number is 4
times the sum of its digits and twice the

product of the digits. Find the
number.

Watch Video Solution

https://dl.doubtnut.com/l/_raLszPbBVo23
https://dl.doubtnut.com/l/_hDf0cbaCP9nW
https://dl.doubtnut.com/l/_I1AkXwPDMXRC


313. The difference between
 two numbers is 26 and one number is

three times the other. Find them.

Watch Video Solution

314. The sum of the digits
of a two-digit number is 9. Also, nine times

this number is twice the number
 obtained by reversing the order of

the digits. Find the number.

Watch Video Solution

315. The numerator of a
fraction is 4 less than the denominator. If the

numerator is decreased by 2
and denominator is increased by 1, then

the denominator is eight times the
numerator. Find the fraction.

Watch Video Solution

https://dl.doubtnut.com/l/_snKfShCaZVH6
https://dl.doubtnut.com/l/_gLWmzxABue6v
https://dl.doubtnut.com/l/_59elrzMuTNGs
https://dl.doubtnut.com/l/_0dHRWa8oeOJH


316. A fraction becomes 9/11
 if 2 is added to both numerator and the

denominator. If 3 is added to both
 the numerator and the

denominator it becomes 5/6. Find the fraction.

Watch Video Solution

317. A fraction becomes 1/3
if 1 is subtracted from both numerator and

the denominator. If 1 is added to
 both the numerator and the

denominator it becomes 1/2. Find the fraction.

Watch Video Solution

318. If we add 1 to the
 numerator and subtract 1 from the

denominator, a fraction becomes 1. It also
becomes 1/2 if we only add 1

to the denominator. What is the fraction?

Watch Video Solution

https://dl.doubtnut.com/l/_0dHRWa8oeOJH
https://dl.doubtnut.com/l/_UnUbm6QanQlK
https://dl.doubtnut.com/l/_WeS2O18LFgCO
https://dl.doubtnut.com/l/_BQze5X7efQIV


319. When 3 is added to the
denominator and 2 is subtracted from the

numerator a fraction becomes 1/4.
And, when 6 is added to numerator

and the denominator is multiplied by 3 it
 becomes 2/3. Find the

fraction.

Watch Video Solution

320. If 2 is added to the
numerator of a fraction, it reduces to 
and

if 1 is subtracted
 from the denominator, it reduces to 
 . Find the

fraction.

Watch Video Solution

1/2

1/3

321. The sum of the
 numerator and denominator of a fraction is 4

more than twice the numerator.
 If the numerator and denominator

are increased by 3, they are in the ratio 2
: 3. Determine the fraction.

Watch Video Solution

https://dl.doubtnut.com/l/_BQze5X7efQIV
https://dl.doubtnut.com/l/_7R8TKa8pEIjy
https://dl.doubtnut.com/l/_U7RGymx7hCWc


322. The sum of the
numerator and denominator of a fraction is 3 less

than twice the denominator.
 If the numerator and denominator are

decreased by 1, the numerator becomes
 half the denominator.

Determine the fraction.

Watch Video Solution

323. The sum of the
numerator and denominator of a fraction is 12. If

the denominator is
 increased by 3, the fraction becomes 
 . Find

the fraction.

Watch Video Solution

1/2

324. Five years hence,
 father’s age will be three times the age of his

son. Five years ago, father
was seven times as old as his son. Find their

present ages.

https://dl.doubtnut.com/l/_U7RGymx7hCWc
https://dl.doubtnut.com/l/_2tlFeemxnzOX
https://dl.doubtnut.com/l/_rfo7sJ00Txvw
https://dl.doubtnut.com/l/_72GVw0XL119T


Watch Video Solution

325. A father is three times
as old as his son. After twelve years, his age

will be twice as that of his
son then. Find their present ages.

Watch Video Solution

326. Ten years later, 
will be twice as old as
 
 and five years ago, 

was three times as old
as 
. What are the present
ages of 
and 
?

Watch Video Solution

A B A

B A B

327. A
is elder to B
by 2 years. A
′s
 
father F
is twice as old as A
and B
 is

twice as old as his
sister S
. If the ages of the
father and sister differ by

40 years, find the age of A
.

Watch Video Solution

https://dl.doubtnut.com/l/_72GVw0XL119T
https://dl.doubtnut.com/l/_fhD69JDccr04
https://dl.doubtnut.com/l/_6sUdiMWJDNM9
https://dl.doubtnut.com/l/_Cq1gW3ZsYWqk


328. Six years hence a man’s
age will be three times the age of his son

and three years ago he was nine
 times as old as his son. Find their

present ages.

Watch Video Solution

329. The present age of a
father is three years more than three times

the age of the son. Three years
 hence father’s age will be 10 years

more than twice the age of the son.
Determine their present ages.

Watch Video Solution

330. A father is three times
as old as his son. In 12 years time, he will

be twice as old as his son. Find
the present ages of father and the son.

Watch Video Solution

https://dl.doubtnut.com/l/_1UVSLtayDo9a
https://dl.doubtnut.com/l/_xNxFQucJfMMR
https://dl.doubtnut.com/l/_2b7euXw0xRqC
https://dl.doubtnut.com/l/_Ce6imq5WXMXO


331. Five years ago, Nuri
was thrice as old as Sonu. Ten years later, Nuri

will be twice as old as
Sonu. How old are Nuri and Sonu?

Watch Video Solution

332. The ages of two
friends Ani aid Biju differ by 3 years. Ani's father

Dharam is twice as old
 as Ani and Biju is twice as old as his sister

Cathy. The ages of Cathy and
Dharam differ by 30 years. Find the ages

of Ani and Biju.

Watch Video Solution

333. Ved travels 600 km to
his home partly by train and partly by car.

He takes 8 hours if he travels
 120 km by train and the rest by car. He

takes 20 minutes longer if he travels
200 km by train and the rest by

car. Find the speed of the train and the car.

Watch Video Solution

https://dl.doubtnut.com/l/_Ce6imq5WXMXO
https://dl.doubtnut.com/l/_XXnjv9dxoUyp
https://dl.doubtnut.com/l/_PLIGEGAwOteL


334. Points 
and 
are 70 km. apart on a
highway. A car starts from


 and another car starts
 from 
 simultaneously. If they
 travel in the

same direction, they meet in 7 hours, but if they travel
 towards each

other, they meet in one hour. Find the speed of the two cars.

Watch Video Solution

A B

A B

335. A sailor goes 8 km
 downstream in 40 minutes and returns in 1

hours. Determine the speed of the
 sailor in still water and the speed

of the current.

Watch Video Solution

336. A boat goes 30 km upstream and 44
km downstream in 10 hours.

In 13 hours, it can go 40 km upstream and 55 km
 downstream.

Determine the speed of the stream and that of the boat in still
water.

Watch Video Solution

https://dl.doubtnut.com/l/_CJzDZllmA6hv
https://dl.doubtnut.com/l/_vwZ7JmtkytP6
https://dl.doubtnut.com/l/_VcjdMoOmnzEU


337. A boat goes 24 km
 upstream and 28 km downstream in 6 hrs. It

goes 30 km upstream and 21 km
 downstream in .
 Find the

speed of the
boat in still water and also speed of the stream.

Watch Video Solution

6  hrs
1

2

338. While covering a
distance of 30 km. Ajeet takes 2 hours more than

Amit. If Ajeet doubles his
speed, he would take 1 hour less than Amit.

Find their speeds of walking.

Watch Video Solution

339. A man walks a certain
distance with certain speed. If he walks 

km an hour faster, he
 takes 1 hour less. But, if he walks 1 km an hour

slower, he takes 3 more
 hours. Find the distance covered by the man

and his original rate of walking.

1/2

https://dl.doubtnut.com/l/_VcjdMoOmnzEU
https://dl.doubtnut.com/l/_EVG4IOwifIVv
https://dl.doubtnut.com/l/_JMtuBRbIv7BF
https://dl.doubtnut.com/l/_mtpz3ClAq590


Watch Video Solution

340. Ramesh travels 760 km
to his home partly by train and partly by

car. He takes 8 hours if he travels
160 km. by train and the rest by car.

He takes 12 minutes more if he travels
240 km by train and the rest by

car. Find the speed of the train and car
respectively.

Watch Video Solution

341. A boat goes 12 km
upstream and 40 km downstream in 8 hours. It

can go 16 km upstream and 32 km
downstream in the same time. Find

the speed of the boat in still water and
the speed of the stream

Watch Video Solution

342. Roohi travels 300 km to
 her home partly by train and partly by

bus. She takes 4 hours if she travels
60 km by train and the remaining

https://dl.doubtnut.com/l/_mtpz3ClAq590
https://dl.doubtnut.com/l/_88CKa0XYExna
https://dl.doubtnut.com/l/_JLwCwMVVpcnL
https://dl.doubtnut.com/l/_hnlQpFHi4KJu


by bus. If she travels 100 km by train and
 the remaining by bus, she

takes 10 minutes longer. Find the speed of the
 train and the bus

separately.

Watch Video Solution

343. Ritu can row downstream
20 km in 2 hours, and upstream 4 km in

2 hours. Find her speed of rowing in
still water and the speed of the

current.

Watch Video Solution

344. 
takes 3 hours more than
 
to walk a distance of
30 km. But, if


 doubles his pace
 (speed) he is ahead of 
 by 
 hours. Find the

speeds
of 
and 
.

Watch Video Solution

A B

A B 1
1

2

A B

https://dl.doubtnut.com/l/_hnlQpFHi4KJu
https://dl.doubtnut.com/l/_26hBSq6qeZdO
https://dl.doubtnut.com/l/_oE2v3MXFqHGV
https://dl.doubtnut.com/l/_WQsbXWupvHfa


345. A train covered a
certain distance at a uniform speed. If the train

could have been 10 km/hr
faster, it would have taken 2 hours less than

the scheduled time. And, if the
train were slower by 10 km/hr; it would

have taken 3 hours more than the
 scheduled time. Find the distance

covered by the train.

Watch Video Solution

346. Places A and B are 100 km apart on a highway. One car starts from

A and another from b at the same time. If the cars travel in the same

direction at different speeds, they meet in 5 hours. If they travel

towards each other, they meet in 1 hour. What are the speeds of the

two cars

Watch Video Solution

347. The taxi charges in a
city comprise of a fixed charge together with

the charge for the distance
covered. For a journey of 10 km the charge

https://dl.doubtnut.com/l/_WQsbXWupvHfa
https://dl.doubtnut.com/l/_kJosdPGrul73
https://dl.doubtnut.com/l/_tp2kgmg3eLjT


paid is Rs 75 and for a journey of
15 km the charge paid is Rs 110. What

will a person have to pay for
travelling a distance of 25 km?

Watch Video Solution

348. The area of a rectangle
 gets reduced by 9 square units if its

length is reduced by 5 units and the
breadth is increased by 3 units. If

we increase the length by 3 units and
 breadth by 2 units, the area is

increased by 67 square units. Find the length
 and breadth of the

rectangle.

Watch Video Solution

349. A man sold a chair and a table together for  thereby

making a profit of  on the chair and  on the table. By selling

them together for  he could have made a profit of  on

the chair and  on the table. Find the cost price of each

Watch Video Solution

Rs. 1520

25 % 10 %

Rs. 1535 10 %

25 %

https://dl.doubtnut.com/l/_tp2kgmg3eLjT
https://dl.doubtnut.com/l/_NGbZTvuZ4aDk
https://dl.doubtnut.com/l/_tFFxNDmVkPfK


Watch Video Solution

350. 8 men and 12 boys can
 finish a piece of work in 10 days while 6

men and 8 boys can finish it in 14
 days. Find the time taken by one

man alone and that by one boy alone to
finish the work.

Watch Video Solution

351. The ratio of incomes of
 two persons is 9:7 and the ratio of their

expenditures is 4:3. If each of
them saves Rs 200 per month, find their

monthly incomes.

Watch Video Solution

352. In a 
 , 
 . Find the three

angles.

Watch Video Solution

ΔABC ∠C = 3  ∠B = 2(∠A + ∠B)

https://dl.doubtnut.com/l/_tFFxNDmVkPfK
https://dl.doubtnut.com/l/_uzgFhlxpSJlA
https://dl.doubtnut.com/l/_wyvG04XWvw6o
https://dl.doubtnut.com/l/_B3pFQ4RO9BcZ


353. Find the four angles of
 a cyclic quadrilateral 
 in which 


 , 
 and 


.

Watch Video Solution

ABCD

∠A = (2x − 1) ∘ ∠B = (y + 5) ∘   ∠C = (2y + 15) ∘

∠D = (4x − 7) ∘

354. If in a rectangle, the
 length is increased and breadth reduced

each by 2 units, the area is reduced
by 28 square units. If, however the

length is reduced by 1 unit and the
breadth increased by 2 units, the

area increases by 33 square units. Find the
area of the rectangle.

Watch Video Solution

355. The area of a rectangle
 remains the same if the length is

increased by 7 metres and the breadth is
decreased by 3 metres. The

area remains unaffected if the length is decreased
 by 7 metres and

https://dl.doubtnut.com/l/_B3pFQ4RO9BcZ
https://dl.doubtnut.com/l/_7bkTcUSP0Im0
https://dl.doubtnut.com/l/_bPlzHBWAhFx5
https://dl.doubtnut.com/l/_BmNX7mWoXT0s


breadth is increased by 5 metres. Find the dimensions of the

rectangle.

Watch Video Solution

356. The incomes of 
 and 
 are in the ratio of 
 and their

expenditures
are in the ratio 
 . If each saves Rs
 1250, find their

incomes.

Watch Video Solution

X Y 8: 7

19: 16

357. 
and 
each has some money. If
 
gives Rs 30 to 
, then 
will

have twice the
money left with 
 . But, if 
gives Rs 10 to 
 , then 

will have thrice as
much as is left with 
. How much money does
each

have?

Watch Video Solution

A B A B B

A B A A

B

https://dl.doubtnut.com/l/_BmNX7mWoXT0s
https://dl.doubtnut.com/l/_3NfDegW3WbGR
https://dl.doubtnut.com/l/_yXm7Lb58H4g5
https://dl.doubtnut.com/l/_fRjR8HLxTqFE


358. 2 men and 7 boys can do
a piece of work in 4 days. The same work

is done in 3 days by 4 men and 4
 boys. How long would it take one

man and one boy to do it?

Watch Video Solution

359. In a 
 , 
 . Also, 


. Find the three
angles.

Watch Video Solution

ΔABC ∠A = xo,   ∠B = (3x − 2)o,   ∠C = yo

∠C − ∠B = 9o

360. In a cyclic quadrilateral , 

Find the four angles.

Watch Video Solution

ABCD

∠A = (2x + 4)o,  ∠B = (y + 3)o,  ∠C = (2y + 10)o,   ∠D = (4x − 5)o

https://dl.doubtnut.com/l/_fRjR8HLxTqFE
https://dl.doubtnut.com/l/_Aennb0Qc3yK6
https://dl.doubtnut.com/l/_YOb7moo4nZr0


361. In a 
 and 
 . If 


, prove that the
triangle is right angled.

Watch Video Solution

ΔABC,   ∠A = xo,   ∠B = 3xo ∠C = yo

3y − 5x = 30

362. The car hire charges in
a city comprise of a fixed charges together

with the charge for the distance
 covered. For a journey of 12 km, the

charge paid is Rs 89 and for a journey
of 20 km, the charge paid is Rs

145. What will a person have to pay for
travelling a distance of 30 km?

Watch Video Solution

363. A part of monthly hostel charges is fixed and the remaining

depends on the number of days one has taken food in the mess. When

a student A takes food for 20 days she has to pay 1000 as hostel

charges whereas a student who takes B food for 26 days, pays 1180 as

hostel charges. Find the fixed charges and the cost of food per day.

https://dl.doubtnut.com/l/_fWypXsqBGzq0
https://dl.doubtnut.com/l/_RQZOM3WIVKyI
https://dl.doubtnut.com/l/_aCIh8EzAw1eE


Watch Video Solution

364. Half the perimeter of a rectangular garden , whose length is 4 m

more than its width is 36m. Then find the dimensions of the garden.

Watch Video Solution

365. The larger of two
supplementary angles exceeds the smaller by 18

degrees. Find them.

Watch Video Solution

366. 2 women and 5 men can together finish an embroidery work in 4

days, while 3 women and 6 men can finish it in 3 days. Find the time

taken by 1 woman alone to finish the work, and also that taken by 1

man alone.

Watch Video Solution

https://dl.doubtnut.com/l/_aCIh8EzAw1eE
https://dl.doubtnut.com/l/_EJ6dGLVJuGEL
https://dl.doubtnut.com/l/_rmJG00A68sca
https://dl.doubtnut.com/l/_miR9THppzUKB


Watch Video Solution

367. Meena went to a bank to
withdraw Rs 2000. She asked the cashier

to give her Rs 50 and Rs 100 notes
only. Meena got 25 notes in all. Find

how many notes Rs 50 and Rs 100 she
received.

Watch Video Solution

368. Yash scored 40 marks in a test, getting 3 marks for each right

answer and losing 1 mark for each wrong answer. Had 4 marks been

awarded for each correct answer and 2 marks been deducted for each

incorrect answer, then Yash would have scored 50 marks. How many

questions were there in the test?

Watch Video Solution

369. ABCD
is a cyclic
quadrilateral such that ∠A=(
4y+20
)°,   ∠B=(
3y−5

)°,  ∠C=(
−4x)°
and ∠D=(
-7x+5
)°
. Find the four angles.

https://dl.doubtnut.com/l/_miR9THppzUKB
https://dl.doubtnut.com/l/_QL1KHxPOLR95
https://dl.doubtnut.com/l/_fiJtil39Qt9q
https://dl.doubtnut.com/l/_vMkGILKy9BE9


Watch Video Solution

370. Write the value of 
 for which the system of
 equations


and 
has no solution

Watch Video Solution

k

x + y − 4 = 0 2x + ky − 3 = 0

371. Write the value of 
 for which the system of
 equations


has infinitely many
solutions.

Watch Video Solution

k

2x − y = 5,   6x + ky = 15

372. Write the value of 
 for which the system of
 equations


and 
has infinitely many
solutions.

Watch Video Solution

k

3x − 2y = 0 kx + 5y = 0

https://dl.doubtnut.com/l/_vMkGILKy9BE9
https://dl.doubtnut.com/l/_qfXjNCL4B9Bi
https://dl.doubtnut.com/l/_tIGuDQcRT94f
https://dl.doubtnut.com/l/_nuWdUqIfzD1q
https://dl.doubtnut.com/l/_Oxy305KFNUb2


373. Write the values of 
 for which the system of
 equations


has unique solution.

Watch Video Solution

k

x + ky = 0,   2x − y = 0

374. Write the set of values
of 
and 
for which the following
system

of equations has infinitely many solutions.

Watch Video Solution

a b

2x + 3y = 7,     2ax + (a + b)y = 28

375. For what value of 
 , the following pair of
 linear equations has

infinitely many solutions?

Watch Video Solution

k

10x + 5y − (k − 5) = 0,     20x + 10y − k = 0

https://dl.doubtnut.com/l/_Oxy305KFNUb2
https://dl.doubtnut.com/l/_RN8uVIPiusK3
https://dl.doubtnut.com/l/_t8XNSZDc2ls4


376. Write the number of
 solutions of the following pair of linear

equations: 

Watch Video Solution

x + 2y − 8 = 0,     2x + 4y = 16

377. Write the number of
 solutions of the following pair of linear

equations: 

Watch Video Solution

x + 3y − 4 = 0,     2x + 6y = 7

378. The value of 
for which the system of
equations 
and 


has a unique solution,
 is
 
(b) k 
(c) k 
 (d)

k

Watch Video Solution

k kx − y = 2

6x − 2y = 3 (a)k = 3 ≠ 3 ≠ 0

= 0

https://dl.doubtnut.com/l/_g0qyMc08P4C5
https://dl.doubtnut.com/l/_BDCXRFdLss4z
https://dl.doubtnut.com/l/_rDnxSuLkey4x


379. The value of 
 for which the system of
 equations


has infinite number of
solutions, is
(a) 1

(b) 3 (c) 6 (d) 0

Watch Video Solution

k

2x + 3y = 5,     4x + ky = 10

380. The value of 
for which the system of
equations 

and 
has no solution, is
(a) 10 (b) 6 (c) 3 (d) 1

Watch Video Solution

k x + 2y − 3 = 0

5x + ky + 7 = 0

381. The value of 
for which the system of
equations 
and


has a non-zero
solution, is
(a) 0 (b) 2 (c) 6 (d) 8

Watch Video Solution

k 3x + 5y = 0

kx + 10y = 0

https://dl.doubtnut.com/l/_UbbKk10cAGuw
https://dl.doubtnut.com/l/_kWYlhkPYz9qh
https://dl.doubtnut.com/l/_VdJ6RdBPbDS1


382. If the system of
 equations


 has infinitely many

solutions, then

A. 

B. 

C. 

D. 

Answer: null

Watch Video Solution

2x + 3y = 7,     (a + b)x + (2a − b)y = 21

383. If the system of
 equations


 is inconsistent, then 3x + y = 1,   (2k − 1)x + (k − 1)y = 2k + 1

k =

https://dl.doubtnut.com/l/_Oj8zthAT0fOp
https://dl.doubtnut.com/l/_1CBiIhby0UjQ


A. (a) 1

B. (b) 0

C. (c) 

D. (d) 2

Answer: null

Watch Video Solution

−1

384. If 
 , then the system of
 equations 


 (a) has a unique
 solution (b) has no

solution
 (c) has infinitely many
 solutions
 (d) may or may not have
 a

solution

Watch Video Solution

am ≠ bl

ax + by = c,     lx + my = n

https://dl.doubtnut.com/l/_1CBiIhby0UjQ
https://dl.doubtnut.com/l/_ihJRsNxyPK3Z


385. If the system of
 equations 

has infinitely many
solutions, then
(a) 
(b) 
(c) 

(d) 

Watch Video Solution

2x + 3y = 7,    2ax + (a + b)y = 28

a = 2b b = 2a a + 2b = 0

2a + b = 0

386. The value of 
 for which the system of
 equations


has no solution is
(a) 
(b) 
(c) 

(d) None of these

Watch Video Solution

k

x + 2y = 5,   3x + ky + 15 = 0 6 −6 3/2

387. If 
and 
represent

coincident
 lines, then 
 and 
 satisfy the equation
 (a) 
 (b) 


(c) 
(d) 

Watch Video Solution

2x − 3y = 7 (a + b)x − (a + b − 3)y = 4a + b

a b a + 5b = 0

5a + b = 0 a − 5b = 0 5a − b = 0

https://dl.doubtnut.com/l/_8t18AdJ6ZinN
https://dl.doubtnut.com/l/_5K0vcT0WlD0w
https://dl.doubtnut.com/l/_tJEWm28z4OoQ


388. If a pair of linear
equations in two variables is consistent, then the

lines represented by two
equations are (a) intersecting                     (b)

parallel   (c) always
coincident           (d) intersecting or coincident

Watch Video Solution

389. If the system of
 equations 
 has

infinitely many
solutions, then 
(a) 
(b) (c) 
(d) 

Watch Video Solution

2x + 3y = 5,     4x + ky = 10

k = 1 3 6

390. If the system of
 equations 
 has no

solution, then 
(a) 
(b) 
(c) 
(d) 

Watch Video Solution

kx − 5y = 2,     6x + 2y = 7

k = −10 −5 −6 −15

https://dl.doubtnut.com/l/_eLMfxcruzNva
https://dl.doubtnut.com/l/_Pm9VSeEczrGV
https://dl.doubtnut.com/l/_PBUsSv4ztZsB


391. The area of the
 triangle formed by the line 
 and 


is
    (d) None of these

Watch Video Solution

x = 3,   y = 4

x = y (a) sq. unit
1

2
 (b)1sq. unit (c)2sq. unit

https://dl.doubtnut.com/l/_wtiIwktymkuh

